Fort Bend County Tabulation Bid 25-016

Chimney Rock Road Construction from American Canal to McHard Road Segment Two for Fort Bend County Mobility Bond Project No. 20202

Recommended: Northtex Construction, LLC \$16,393,920.92 Funding: Mobility Bonds

| Company | Bid Price | Completion Time in Calendar Days |
|--|-----------------|-------------------------------------|
| Northtex Construction, LLC Houston, TX | \$16,393,920.92 | 547 |
| Allgood Construction Co., Inc. Richmond, TX | \$17,141,635.24 | 547 |
| MC2 Civil LLC Houston, TX | \$17,795,346.30 | 547 |
| Harper Brothers Construction, LLC Houston, TX | \$19,132,631.00 | 547 |
| SER Construction Partners LLC Pasadena, TX | \$19,436,265.03 | 547 |
| Brice Highway LLC Tomball, TX | \$19,184,634.41 | 480 |
| Environmental Allies, LLC Houston, TX | \$20,904,525.25 | 547 |
| Texas Materials Group, Inc. Baytown, TX | \$23,443,399.20 | 547 |



COUNTY PURCHASING AGENT Fort Bend County, Texas

Vendor Information

Jaime Kovar Office (281) 341-8640 Purchasing Agent Legal Company Name Northtex Construction, LLC (top line of W9) **3usiness Name** if different from legal name Corporation/LLC Age in Business? Partnership Sole Proprietor/Individual Type of Business Tax Exempt SAM.gov 81-5328797 Federal ID # or S.S. # Unique Entity ID# SAM.gov CAGE / NCAGE Publicly Traded Business No Yes Ticker Symbol Remittance Address PO BOX 73027 City/State/Zip Houston Physical Address 15331 Ella Blvd City/State/Zip Houston, Tx 77090 Phone Number 832-409-5740 E-mail estimating@northtex.com Contact Person Miguel Rodriguez Cert Date Exp Date Check all that apply to the Certification # DBE-Disadvantaged Business Enterprise SBE-Small Business Enterprise HUB-Texas Historically Underutilized Business company listed above and Certification # provide certification Certification # WBE-Women's Business Enterprise umber Certification # \$500,000-\$4,999,999 <\$500,000 Company's gross annual eccipts \$17,000,000-\$22,399,999 \$5,000,000-\$16,999,999 >\$22,400,000 NAICs codes (Please enter ill that apply) Signature of Authorized Representative Printed Name Miguel Rodriguez Title Estimator Date 12/10/2024

THIS FORM MUST BE SUBMITTED WITH THE SOLICITATION RESPONSE

Contract Sheet Bid 25-016

THE STATE OF TEXAS COUNTY OF FORT BEND

| This memorandum of agreement made and entered into on the 14 day of January, 20 25, |
|--|
| by and between Fort Bend County in the State of Texas (hereinafter designated County), acting herein by |
| County Judge KP George, by virtue of an order of Fort Bend County Commissioners Court, and Northtex Construction, LLC (hereinafter designated Contractor). |
| (company name) |
| WITNESSETH: |
| The Contractor and the County agree that the bid and specifications for the Chimney Rock Road Construction |
| rom American Canal to McHard Road Segment Two for Fort Bend County Mobility Bond Project No. |
| 20202. which are hereto attached and made a part hereof, together with this instrument and the bond (when required) |
| hall constitute the full agreement and contract between parties and for furnishing the items set out and described; |
| he County agrees to pay the prices stipulated in the accepted bid. |
| t is further agreed that this contract shall not become binding or effective until signed by the parties hereto and a |
| ourchase order authorizing the items desired has been issued. |
| Executed at Richmond, Texas this 14 day of January 20 25. |
| Fort Bend County, Texas |
| By: VPO100792 |
| County Judge, KP George |
| Signature of Contractor |
| By: Ruben Amez F Int |
| Printed Name and Title |

Fund available totaling \$16,393,920.92

32

(Rev. March 2024

Department of the Treasury Internal Revenue Service

Request for Taxpayer Identification Number and Certification

Go to www.irs.gov/FormW9 for instructions and the latest information.

Give form to the requester. Do not send to the IRS.

| Befor | e you begin. For guidance related to the purpose of Form W-9, see Purpose of Form, below. | | · |
|--|---|-------------------------------|--|
| Y | 1 Name of entity/individual. An entry is required. (For a sole proprietor or disregarded entity, enter the owner's entity's name on line 2.) | name on line | 1, and enter the business/disregarded |
| | Ruben Garcia Amezquita | | |
| | 2 Business name/disregarded entity name, if different from above. | | |
| | Northtex Construction, LLC | | |
| page 3. | 3a Check the appropriate box for federal tax classification of the entity/individual whose name is entered on in only one of the following seven boxes. Individual/sole proprietor: C corporation: S corporation: Partnership | e 1. Check ust/estate | 4 Exemptions (codes apply only to certain entities, not individuals; see instructions on page 3): |
| E | | usivestate S | Expenses and and the control |
| Print or type. c Instructions | LLC. Enter the tax classification (C = C corporation, S = S corporation, P = Partnership) Note: Check the "LLC" box above and, in the entry space, enter the appropriate code (C, S, or P) for the classification of the LLC, unless it is a disregarded entity. A disregarded entity should instead check the box for the tax classification of its owner. | tax | Exempt payer code (if any) Exemption from Foreign Account Tax Compliance Act (FATCA) reporting |
| rimt | Other (see instructions) | | code (if any) |
| Print or type. See Specific Instructions on page 3, | 3b If on line 3a you checked "Partnership" or "Trust/estate," or checked "LLC" and entered "P" as its tax class and you are providing this form to a partnership, trust, or estate in which you have an ownership interest this box if you have any foreign partners, owners, or beneficiaries. See instructions | t, oheck | (Applies to accounts maintained outside the United States.) |
| See | 5 Address (number, street, and apt. or suite no.). See instructions. Requ PO BOX 73027 | iester's name | and address (optional) |
| | 6 Oity, state, and ZIP code | | |
| | Houston, TX 77273 | | |
| | 7 List account number(s) here (optional) | | |
| | | I I No. Company | |
| Pai | Taxpayer Identification Number (TIN) | | - Institution of the second se |
| Enter | your TIN in the appropriate box. The TIN provided must match the name given on line 1 to avoid | Social se | curity number |
| backi | up withholding. For individuals, this is generally your social security number (SSN). However, for a | | |
| resid | ant allen, sole proprietor, or disregarded entity, see the instructions for Part I, later. For other es, it is your employer identification number (EIN). If you do not have a number, see <i>How to get</i> a | | |
| TIN, | | or | |
| | | Employe | r identification number |
| Note Numi | If the account is in more than one name, see the instructions for line 1. See also What Name and per To Give the Requester for guidelines on whose number to enter. | 8 1 | - 5 3 2 8 7 9 7 |
| Pai | Certification | | |
| | r penalties of perjury, I certify that: | | |
| 1, Th | e number shown on this form is my correct taxpayer identification number (or I am waiting for a nur | nber to be is | sued to me); and |
| Se | m not subject to backup withholding because (a) I am exempt from backup withholding, or (b) I hav rvice (IRS) that I am subject to backup withholding as a result of a failure to report all interest or div longer subject to backup withholding; and | e-not been r idends, or (c | notified by the Internal Revenue) the IRS has notified me that Lam |
| | m a.U.S. oltizen or other U.S. person (defined below); and | | |
| | e FATCA code(s) entered on this form (if any) indicating that I am exempt from FATCA reporting is | | |
| beca | fication instructions. You must cross out Item 2 above if you have been notified by the IRS that you a use you have failed to report all interest and dividends on your tax return. For real estate transactions, i sition or abandonment of secured property, cancellation of debt, contributions to an individual retirement than interest and dividenda, you are not required to sign the certification, but you must provide your co | tem 2 does n ent arrangem | ot apply. For mortgage interest paid, ent (IRA), and, generally, payments |
| Sign Her | | 10- 2 | 29-24 |
| Ca | noral Instructions New line 3b has been | added to this | s form. A flow-through entity is |

General monucuons

Section references are to the internal Revenue Code unless otherwise

Future developments. For the latest information about developments related to Form W-9 and its instructions, such as legislation enacted after they were published, go to www.irs.gov/FormW9.

What's New

Line 3a has been modified to clarify how a disregarded entity completes this line. An LLC that is a disregarded entity should check the appropriate box for the tax classification of its owner. Otherwise, it should check the "LLC" box and enter its appropriate tax classification.

required to complete this line to indicate that it has direct or indirect foreign partners, owners, or beneficiaries when it provides the Form W-9 to another flow-through entity in which it has an ownership interest. This change is intended to provide a flow-through entity with information regarding the status of its indirect foreign partners, owners, or beneficiaries, so that it can satisfy any applicable reporting requirements. For example, a partnership that has any indirect foreign partners may be required to complete Schedules K-2 and K-3. See the Partnership Instructions for Schedules K-2 and K-3 (Form 1065).

Purpose of Form

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS is giving you this form because they

| Job No.: | 20202 |
|----------|-------|
| | |

Created 05/12

TAX FORM/DEBT/ RESIDENCE CERTIFICATION (for Advertised Projects)

| Taxpa | ıyer Ide | entification Number (T.I. | _{N.):} <u>81-5328797</u> | |
|-----------------|-------------------------------|--|---|--|
| | | | | |
| | | PO BOX 7302 | | |
| | | | | |
| _ | | | | |
| | | individual, list the name ne(s) under which you op | | ston, TX 77273 of Texas? Yes No differences of any partnership of which you are a general partner or any our business in Fort Bend County owned by you or above partnerships as well as any d/b/a operty as well as mineral interest accounts. (Use a second sheet of paper if operty address or location** mumber assigned by the Fort Bend County Appraisal District. address or legal description. For business personal property, specify the overample, office equipment will normally be at your office, but inventory action. we any debts to Fort Bend County (taxes on properties listed in I above, etc.)? in a separate page explaining the debt. to Texas Government Code §2252.001 et seq., as amended, Fort Bend County (2252.001 et seq. of the Government Code provides some restrictions on the pertinent provisions of §2252.001 are stated below: a person who is not a resident. person whose principal place of business is in this state, including a arent company or majority owner has its principal place of business in |
| | | | | |
| I. _. | nam | | | |
| Fort E | Bend C | ounty Tax Acct. No.* | Property addre | ess or location** |
| | | | | |
| | | | _ | |
| | | | | |
| ** Fo | or real dress v y be st | property, specify the p where the property is loc ored at a warehouse or o | roperty address or cated. For example, ther location. | legal description. For business personal property, specify the office equipment will normally be at your office, but inventory |
| | | ets, fines, tolls, court judg | | to rott bold county (unter our proportion instead in racove, |
| | • | Yes 🗸 No If yo | s, attach a separate p | page explaining the debt. |
| III. | requ | ests Residence Certificat | ion. §2252.001 et | seq. of the Government Code provides some restrictions on the |
| | (3) | "Nonresident bidder" re | fers to a person who | o is not a resident. |
| | (4) | | | |
| | ✓ | I certify that Northtex Con | struction, LLC mpany Name] | is a Resident Bidder of Texas as defined in Government Code |
| | | §2252.001. | _ | |
| | | I certify that | | is a Nonresident Bidder as defined in Government Code |
| | | [Cor §2252.001 and our prin | | |
| | | , I | * * | [City and State] |



Contractor Acknowledgement of Storm Water Management Program

I hereby acknowledge that I am aware of the stormwater management program and standard operating procedures developed by Fort Bend County in compliance with the TPDES General Permit No. TXR040000. I agree to comply with all applicable best management practices and standard operating procedures while conducting my services for Fort Bend County. I agree to conduct all services in a manner that does not introduce illicit discharges of pollutants to streets, stormwater inlets, drainage ditches or any portion of the drainage system. The following materials and/or pollutant sources must not be discharged to the drainage system as a result of any services provided:

- 1. Grass clippings, leaves, mulch, rocks, sand, dirt or other waste materials resulting from landscaping activities, (except those materials resulting from ditch mowing or maintenance activities)
- 2. Herbicides, pesticides and/or fertilizers, (except those intended for aquatic use)
- 3. Detergents, fuels, solvents, oils and/or lubricants, other equipment and/or vehicle fluids,
- 4. Other hazardous materials including paints, thinners, chemicals or related waste materials,

Furthermore, I agree to notify Fort Bend County immediately of any issue caused by or identified by:

- 5. Uncontrolled dewatering discharges, equipment and/or vehicle wash waters,
- 6. Sanitary waste, trash, debris, or other waste products

Estimator

Title

- 7. Wastewater from wet saw machinery,
- 8. Other pollutants that degrade water quality or pose a threat to human health or the environment.



Northtex Construction, LLC

| P.O Box 73027 Houston 1 | TY 77273 832-400-5746 | I warms northter com |
|-------------------------|-------------------------|----------------------|

| P.O Box 730 | 27 Houston, TX 77273 832-409-5740 www.northtex.com | | | |
|--------------|--|--|--|------------------|
| N | TIN IN INC. | D | Engineer | ContractAmount |
| No. | Jub Name / Description Paters Sec.2 | Developer Information Cestury Homes | Costello Engineering LLC | |
| ! | Sundance Cove Sec.7 - W3D | Carlos Violra 832-665-2212 Metitago Homes | Joseph Sitzman 713-733-7788 EHRA Engineering | 5 2,339,019.3 |
| 2 | FB - BID NO. 24-513 - RECONST. & WIDENING OF MCCRARY RD.; PROJ. 17313X | Iosh Penton <iosh penton@maritagehomes.com=""> Fort Bend County</iosh> | Kent Hughes <khughes@chra.team></khughes@chra.team> | 8 845,314.00 |
| 3 | Siensa See. 67 | Wesley Crawford 281-793-9768 Blemm Managoment District | Part Bend County Wooley Crawford 281-793-9769 LIA Engineering | \$ 12,196,999.51 |
| 4 | | Canny Juyer 281-894-8655 | Dion Folan 713-953-5200 | \$ 761,263.7 |
| 5 | Friendswood Stommoster Detention Baria | Harris County Flood Control Robert Leetherman 346-286-4000 | Harris County Flood Control | \$ 2,546,178.60 |
| 6 | Crosby Farms Sec. 2 - Paving | ING Development, Inc | ENRA Engineering Dane Kendall (713) 754-4500 | \$ 1,788,837.3 |
| 7 | Maple Heights Sec. 3 - WSD & Paving | Century Homes Carlos Vieira 832-865-2212 | LJA Engineering Randy Hirsch 979-232-2195 | \$ 1,536,756.1 |
| В | Sienna Seo. 69A | Sienna Managomena District Conor Joyce 281-294-2655 | LJA Engineering Dion Felan 713-953-5200 | \$ 1,118,196.24 |
| 9 | Slenia Seo, 63 | Sienna Managemeni District Canor Joyce 281-894-8655 | LJA Engineering Dion Felan 713-953-5200 | \$ I,039,422.5 |
| 10 | Elyson Blyd/Elyson Lakes Dr Street Dedication Water, San Swr., Strm Swr. Fac., Force Main, Reinf Cons Paving & Asphalt | Brookfield Proporties Jenniter Ramirez jenniter.ramirez@brookfieldproportiesdovelopment.com | BGE, Engineering | \$ 4,853,861.4 |
| | Cedar Pointe Phase One Det. & Officio | Ashton Woods Homes | John Anderson 713-488-8278 | |
| 11 | | Junious Williams < Junious, Williams@ashtonwoods.com> | Odyssey Engineering Jorge Garda 281-306-0240 Ext. 114 | \$ 5,254,916,6 |
| . 12 | Detention and Grading Phase 2 To Serve BCMUD No. 87 | DR Horton, Inc. Haley Dally | LJA Engineering Kathteen Kinchen 713-358-8816 | 5 6,208,309,1 |
| 13 | Town Park Dt, Phase 4 | GCP Loan Subsidiary 1, L.P. | LJA Hngistering Hayden T Rice 713-358-8846 | \$ 2,392,907,4 |
| 14 | Morfdiana Scc. 24-B | GR-Mi, Ltd. e/o Rise Communities, LLC Tenn Honn tom@cisecommunities.net | EHRA Engineering Hannah Ritchey 713-337-7499 | \$ 1,927,445,36 |
| 15 | Moridiana Scc. 24A | GR-Mi, Ltd. s/a Rise Communities, LLC | HRA Engineering Haunah Ritabey 713-337-7499 | \$ 2,100,640.14 |
| 16 | Sweet Grass 101 | Tent Hom tom@discommunifics.net Sweetgrass Development David Glunt | Odystoy Engineering | \$ 172,477.21 |
| 17 | VALENCIA SEC 7 | | Samuel B, Hill shill@odysseyeg.com Hurtado Construction Company | \$ 1,938,760.76 |
| 18 | Laurel Partre Scc. I WSD & Paving | Century Land Holding of Texas, LLC | Ostavio Mena 832-535-4900 Quiddity Engineering | \$ 5,773,975.90 |
| | H.CO. MUD #213-A - Mass Grading and Detention for Brown-Chatham Phase ; | Carlos Vietrs \$32-665-2212 Leonar Homes of Texas Land and Construction, Ltd. Shane Green | Hale Blinechtonia Qulddity Engineering | |
| 19 | Blue Wing Trails and Beath Press Lauro | Academy Development, | Edward Varola 713-389-1529 LJA Engineering | 8 5,222,525.0 I |
| 20 | Potreta Sc. 28 - WSD | Permona HD Specialty, LLC | Priscilla Floros 210-501-2702 | \$ 497,386.96 |
| 21 | Wooden's Reterve Sec. 24 | Russell Bynum russell, bynum@hillwood.com Tell Brothers | LJA Engineering Hannah Horsfield 713-380-4425 Jones & Carter | S 4,390,978,33 |
| 22 | | Lorenzo Rivera 979-571-0242 | Nathra A. Adama 281-363-4039 | S 2,562,921,63 |
| 23 | Construction of Water, Sandary, Drainage, and Paving Facilities for Woodson's Reserve Lexington Bonievaca & Townson Bonievaca Street Ded. | IT. HBL LLC. Jimsuir Jenkius | Quiddity Engineering Cameron Miller 832-913-4032 | \$ 4,404,550,65 |
| 24 | BCMUD #83, WSD/PAVING POLLARD BLVD, PH.1-SEG,A & DBL BELLO BLVD, PH.1-SEG,A | Valencia 288, LUC | LJA Engineering Huunah Rornfield 713-380-4425 | \$ 2,803,995,9 |
| 25 | MCMUD#176, Paving Morrot Rutich Blvd. Extension #2 Sec. 4&6 | Friendswood Development Computy Jose Espinoss 932-289-0955 | L. Squared Engineering Jonathan Payne 936-647-0420 | \$ 723,740,76 |
| 26 | Hustor's Creek Pond Repair | Asudemy Devalopment. Hector Murtinoz (281) 671-9011 | LJA Ruginecring Steven Perez (713) 953-5200 | 5 418,578.94 |
| 27 | Maple Heights Sec. 4 | Century Homes Cirrios Vioire 832-665-2212 | CIA Engineering Clayton Weighulm 713-953-5103 | \$ 3,809,218.5 |
| 18 | Rough Cut Detection to Serve Westland Ranch South | Forestar (USA) Real Estate Group, Inc. John David Barnes | DEC Engineering | \$ \$56,410,0 |
| 19 | Sweetgrau 100 | Sweetgrass Development David Climit | Odyssey Engineering Sarouel B. Hill shill@odysseyeg.com | \$ 279,616.6. |
| 30 | Montgomery Ridge Phase (| Beazer Homes Greg Coteman geolenun@beazer.com | Elevation Land Solutions Engineering Brandott Circle 713-742-2137 | \$ 1,251,641.0 |
| 31 | Bradburry Porest Sections 11-14 Detention | Woodmere Development Services, LTD | VSE | \$ 1,142,766.7- |
| | MCMUD #176, WSD MORAN RANCH SBC. 3 & 5 | Brett Beardsley brett@charterdev.com Friendswood Development Computy | Ryan Vegler 281-507-7664 L Squared Buginsoring | |
| 32 | Suntern Pod M&NN | June Espinose #32-289-0955 ACD Construction | Jonnthan Payne 936-647-0420 | \$ 1,974,742.41 |
| 13 | Porters Mill South Doteation | Michael Fletcher 214-233-7738 ACD Construction | Quiddity Engineering | \$ 635,361,59 |
| 34 | Kellur Farmts | Michael Flotefor 214-233-7738 D & P Interest, LP | LJA Engineeling BEFCO Engineeling | \$ 484,490,3 |
| 35 | | Perry Soun p.senn@centornelessios.com | Tim Sandors 979-968-6474 | \$ 1,444,3LD,2: |
| 36 | Meridiana Scc. 55-A | Miso Cocumunities Brian Auroch (702) 466-2082 | BHRA Engineering Hammh Ritchey 281-892-9415 LIA Engineering | \$ 2,665,708,8 |
| 37 | | Beaver floras Vanosa Rodríguez 28 l-948-3510 | Clayton Welsinko 713-953-5103 | \$ 2,062,789.4 |
| 38 | Sienna Mobility Improvements - Sienna Parkway at Wette Flastalov/Avalon Point | Slends Management District Conor Joyce 281-894-8655 | LIA Engineering Dien Felan 713-953-5200 | 5 516,251.0 |
| 39 | Bauer Meadowe Sec. 1 | KB Hemo Lono Star for Ethan Borning | A&S Engineers Jack R Flores 713-942-2726 | \$ 653,293.5 |
| 40 | Fingstone See.2 | l'iumble Joint Venture 1, Lt.C | A&S Engineers Vlunie Turtorella 713-942-2717 | \$ 3,728,354.4 |
| 41 | Live Oak Russb | Angleton Live Oak Rusch LLC Clint Mann | Odystoy Englistering Dan Edwards 713-304-6520 | \$ 1,986,971.8 |
| 42 | Maple Heights Pavament Replacement | Century Homes Carlos Violra 832-665-2212 | LJA Engineering Randy Hirsch 979-232-2195 | \$ 504,134,3 |
| 43 | Detention Facilities and Amenity Laken to Serve Orchid Estates | Twinwood fas | LJA Engineering Steven Boyd 713-380-4464 | \$ 4,831,241,6 |
| 44 | Mondlenn Section 980 | Mark Kilkenny kitkenny@twinwoods.com Rise Commaitles Brion Astreth (702) 466-2082 | HHRA Enginesting | \$ 1,290,321.3 |
| 45 | Detention and Guding Pb 1 - BCMUD #87 | DR Horion, Inc. Haley Daily | Hennah Ritchey 281-892-9415 | \$ 7,400,244.7 |
| 46 | Mass Grading to Serve Fevertwood Miligations | Creakferest Development, Inc | Kathleen Kinchen 713-358-8816 A&S Engineering | \$ 447,780.9 |
| 47 | Westland Rench Sec. 4 and Magnolia Bayes Drive | Forester (USA) Real Estate Group, | Benjanda Bynum 713-942-2734 DEC Loginaering | |
| | Moran Rasch Clearing, Mass Grading, and Drainage Sections 3-6 & 8-10 | loe, John David Barnes Friendswood Development Company | Kyle Kem 409-692-2218 L Squared Engineering | \$ 1,817,994,7 |
| 48 | Sienna Mobility Improvements - Harvost Market | Joso Baptinosa 832-289-9955 Sienna Management District | Jonatian Payne 936-647-0420 LJA Ruginooring | \$ 1,032,114,0 |
| 49 | Avalos Village | | Dion Felan 713-953-5200 Kimicy Horn | \$ 617,597.0 |
| 50 | | Taylor Morrison David Colunga 713-366-0823 | Kiniley Hant Rasio Knetzor 713-210-9404 | 8 8,988,855,2 |
| 51 | Haird Hwd Ph) Drainago | Astro Slerre, Vista West, LLC Josh Wadley | Eleyation Lund Solutions Dayld Dorus | \$ 5,317,464.5 |
| 52 | Kirby Drive Phase 3 | Porrona Phese G, LLC | LFA Engineering Humah Horsfield 713-380-4425 | S 1,499,975.8 |
| | | · · · · · · · · · · · · · · · · · · · | | |

| 53 | Pollard Segment C / CharlestoStropt Phase 1 | Valencia 288, LLC | | \$ 5,533,514,14 |
|--|--|---|---|---|
| 6.2 | MCMUD #128A, Water/Drainage/Paving Old Montgomery Rd, | HF Helding Company LLC | LJA Engineering Hannah Honsfield 713-389-4426 | \$ 5,176,292,01 |
| 54 | Paving and Appartenances to Serve Sienin Section 64 | Antonio Pez 28 L-7 L9-6 L58 Toll Brothers | LJA Engineering Mican Kreikometer (713) 953-5200 LJA Engineering | |
| 5.5 | Proposed Paving and Bridge to serve Berrett Crossing Street Dedication Section One | Lorenze Riyam 979-571-9242 Century Land Holdings of Texas | Dion Felut 713-953-5290 | \$ 1,350,864.01 |
| 56 | Alexander Tract - Pond | | Odyssey Engineering, Samuel B Hill 281-306-9240 x 125 | \$ 1,751,278.45 |
| 57 | | D.R. Herton Haley Daily | LIA Engineering Cinyton Weishuka 713-953-5163 | \$ 1,814,956.40 |
| 58 | Grace Landing Sec. 1 - Paving | KB Hone Lone Star Inc Ethan Beening | EHRA Engineering Josh Campbelli (713) 784-4500 | \$ 1,985,805.80 |
| 59 | Paving and Appurterances to Serve Ridgeland Hille Section 1 | Anademy Development Steve Townsend 281- 559-4055 | LJA Enginéering Joel Castro 713-953-5202 | \$ 3,553,919.00 |
| 60 | Central Park South Sen, 3 | Marritage Hance of Texas LLC | | \$ 2,485,104.20 |
| 61 | Sagocrest Sec. 1 - WSD & Paving | KB Home Lone Star Inc Palan Beening | LJA Engineering Louis T. Brown 713-579-3818 | \$ 6,721,200.70 |
| | Sundanne Lekes Drive Street Dedication Sec. 1 - WSD & Paving | Clay Read 628 Development L.P | EHRA Engineering Jash Camphell (713) 784-4500 | |
| 62 | Tersiya Woods Fankway Estension Ph. 4 - WED & Periog | HP Helding Company LLC | EHRA Engineering Blake Magrager 713-784-4500 | \$ 4,142,852,75 |
| 63 | | | LJA Engineering Micah Krokemolor (713) 953-5200 | \$ 2,771,581.25 |
| 64 | Barret Crossing Sec. 1 - WSD | Contery Lend Holdings of Texas Carlos Violes 832-665-2212 | Odystey Bigineering Samuel B. Hill shill@odysteyeg.com | \$ 3,478,513,85 |
| 65 | Barret Crossing Street Decidention Sec. 1 - WSD | Contury Land Holdings of Texas Carlos Violra 832-665-2212 | Odyssey Engineering Samuel B. Hill shill@odysseyeg.com | \$ 879,208,65 |
| 66 | Fort Bend County Bid 27-078, Widening and Reconstruction of Becames Street Phase I for Fort Bend County Mobility Bond Project No. 17410 | Fort Bend County | Xaluza, fnc. 281-341-9808 | \$ 5,853,796,90 |
| 67 | Construction Facilities and Fill Placement to Serve Ridgeland Hills Section Oce, Two, and Three | Ridgeland Hills, LTD, Os britalf of Montgomery County MUD No.172 | LJA Bugineoring Jeel Castro 713-953-5202 | \$ 4,466,413,50 |
| 68 | Section 1 On-Sile For Kennah Crossing | Meritage Houses | Kimley Horn Don Bikins | \$ 3,302,334.45 |
| | | Iosh Penton ≪Josh.Penton@meritegebomes.com> Yolf Brothers | 281-597-9300 Pones & Carler Nalban A. Adams | \$ 2,113,378.55 |
| 69 | Construction of Water, Sanitary, Drainage & Paving Facilities for Woodson's Reserve Socion 21 | Lorenze Rivero 979-571-0242 Toll Brothers | 281-363-4039 Jones & Carter Nathan A. Adams | |
| 70 | Construction of Water, Sanitary, Drainage & Paving Facilities for Woodson's Reserve Section 20 | Academy Development. | 281-363-4039 LJA Engineering Justin Gawlik | \$ 1,519,333.15 |
| 71 | Bine Wing Trails Subdivision Unit 2 | Hester Martinez (281) 671-9011 | 210-503-2743 | \$ 8,733,694.09 |
| 72 | Blue Wing Trails Bubdivision Unit 1 | Academy Devolopment. Hostor Martinez (281) 671-9011 | LJA Bugineoring Justin Gewiik 310-503-2743 | \$ 8,809,888,46 |
| 73 | Applewhite Meadows with 2 | Austiemy Development. Hostor Martinoz (281) 671-9011 | LJA Rogiscoring Justin Gawlik 219-503-2743 | \$ 6,453,396.20 |
| 74 | Applewhite Meadow Subdivision Unit 1 | Academy Devolopment. Hostor Martinez (281) 671-9011 | LJA Engineering Justin Guwlik 210-503-2743 | \$ 5,914,755.81 |
| ** | | Academy Development Steve Townsead 281-659-4055 | Elevation Land Solutions Engineering Aris Bledsoc | \$ 6,865,759,95 |
| 75 | Townsord Reserve Sec. 1 - WSD | | 713-417-1135 | 2 0,000,133,73 |
| 76 | Tawasead Reserve Phase I Chamol, Datendon, & Mass Crasting | Academy Development Steve Townstail 281-659-4055 | Blevation Land Solutions Engineering Aria Bladsac | S 2,344,224.3G |
| | | Meritage Homes-Christopher I. Barnes, FE Lund Dovelopment Manager | 713-417-1135 | |
| 77 | Emerald Meadows Subdivident - WDS/FAVING | 3250 Briamark Drive, Suite 100 Houston, TX 77042 O: 713.357,1142 C: | Reginald F. Smith, P.E. Scolor Project Manager LJA Engineering Kaly Office | \$ 3,598,483.80 |
| | Actional Production of The Control o | 985.285.4627 | P: 713.953.5200 D: 713.953.5091 | 0 0 0 0 0 1 0 0 0 0 |
| 78 | Windstoor on the Prairie Destention Pand | Fort Bend County Municipal Utility District No. 162n/o Allen Boons Humphries | | \$ 2,532,685.30 |
| 79 | Proposed Water Distribution, Wastewater Collection, Paying and Storm Water Pacifities to serve Charleston Height, Section Two | Robinson, LLP Charleston CNL, Ltd. c/o Academy DevelopmentKenneth Schaefer 281-553- | Dunkt R. Ring, P.E. Printelpel Ostyracy Reglacering Dan W. Bawards, P.E. Odyracy Engineering Graup 713- | \$ 4,170,378,85 |
| | Liberta same Statement, hancestar concernative state and mount same samples an active contraction and so the contraction and samples and samples are contracted as a sample of the samples and samples are contracted as a sample of the samples and samples are contracted as a sample of the sample of the samples are contracted as a sample of the samples are contracted as a sample of the sample of | 7670 D.R. Horton-Texes Ltd | 304-6520 | , 41, 10,07,000 a |
| B 0 | Paving and Appartenances to Serve Porter's Mill, Sec. 4 | Daniel Miller (832) 302-8481 | Gregory E. Phipps, RPLS J.A. Costanze & Associates Engineering, Inc. 4301 Conter Street Deer Park, Texas | \$ 928,178,43 |
| | a arang man rappunous and the rating soor / | | 77536 gephipps@iac-cs.com (281) 930-9339 | * |
| | Markeuzie Creek Sec. 2 - PAYING | Academy Development Stave Townsend 281- | | 8 1,687,757.28 |
| 82 | Silver aprings nee3 | 659-4055 Silver Serings Interest, Ltd. Louie Trapoline | Bloyl Engineering Jose A. Espinaza (936) 441-7833 Odysscy Engineering Mogan (281) 3D6- | \$ 467,005.34 |
| | and a fining week | | 0240 RHRA Regiscering Blake McGeogor (7J3) | |
| 91 | No. 71-75 No. 10-10-10-10-10-10-10-10-10-10-10-10-10-1 | Acudemy Development. | | 6.016.072.50 |
| 83 | Water Distribution, Wasteweter Colloction, and Storm Water Facilities to serve Microsilo Lakes, Section Theor | Tamny Byant (832) 299-9631 | 784-4500 | \$ 358,773.50 |
| 84 | Excavation, Paving and Lot Grading to serve Adelaida, Sec. Three | Tornny Bryant (832) 299-9631 Acudenty Devolupment. Tornny Bryant (832) 299-9631 | 784-4500 EHRA Engineering Jost: Campbell (713) 784-4560 | \$ 358,773.50 \$ 1,782,556.34 |
| | | Tammy Bhyaut (832) 299-9631 Aoulieny Development. Tammy Bhyaut (832) 299-9631 Aoulieny Development. Stever Twement (821) 629-6057 | 784-4500 | |
| 84 | Excavation, Paving and Lot Grading to serve Adelaida, Sec. Three | Tenney Physat (13)2 (399-963) Anderleys Diversignment Tenney Bynat (13)2 (399-963) Antology Diversignment Tenney Bynat (13)2 (399-963) Antology Diversignment Steve Tennessent (3) 559-4635 Mr Homes of Houston, Benzoer | 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 | \$ 1,782,556.34 |
| 84 85 | Excevation, Paving and Lot Grading to serve Adelaids, Sec. Three Water Distribution, Wastowner Collection, Storm Water Parillities and Paving to serve Trevison Gauless, Sec. Five | Tammy Bhyaut (832) 299-9631 Aoulieny Development. Tammy Bhyaut (832) 299-9631 Aoulieny Development. Stever Twement (821) 629-6057 | 784-4500 EHRA Englosering Josh Campbell (713) 784-4500 EHRA Englosering Josh Campbell (713) 784-4500 | \$ 1,782,556.34 \$ 1,406,782.37 |
| 84 85 86 | Excevation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowater Collection, Storm Water Pacifisies and Paving to serve Travisons Gardens, Sec. Pive WS&D for Mustang Crossing Section Six | Temmy Physat (332) 599-963 i Aeudamy Development. Temmy Physat (352) 599-963 i Aeudamy Development. Steve Tevennet (341) 659-4055 864 Hentex of Hondon, Bennen Benner. Aeudamy Previolpment. | 784-4500 PHRA Engineering Josh Campball (713) 784-4500 EHRA Engineering Josh Campball (713) 784-4500 Costello Engineering Josh Campball (713) 783-7788 EHRA Engineering Josh Campball (713) 783-7788 | \$ 1,782,356.34 \$ 1,406,782.37 \$ 728,825.20 |
| 84 85 86 87 | Excevation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowner Collection, Storm Water Pacifisies and Paving to serve Trevisors Gardens, Sec. Pive WS&D for Muntang Crossing Section Six Outreston Basis to Serve Cyprerwood Landing | Tammy Bysat (\$12), 299-963. Andering Diversing promet. Tammy Bysat (\$32), 299-963. Antidamy Diversing promet. Serve Tevenomia (\$23), 599-963. Self-Emers of Hecuton, Bernoen Bernoer Antidamy Diversing promet. Antidamy Diversing Bernoen Berno | 784-4500 EHRA Bagineering Josh Campbell (713) 784-4560 EHRA Bagineering Josh Campbell (713) 784-4560 Costello Singineering Josh Campbell (713) 783-7788 EHRA Englueering Josh Campbell (713) 784-4500 EHRA Englueering Josh Kambill (713) 784-4500 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,257,934.00 |
| 84 85 86 87 88 | Exception, Paving and Lot Grading to serve Adebido, Sec. Three Water Distribution, Wastewater Collection, Storm Water Partition and Paving to serve Trevison Gapting, Sec. Pive WS&D for Mustage Crossing Section Six Deterotion Basic to Serve Cypterwood Landing Medidina Parkey place Six WS&D and Paving for Parkey's Relates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACK, ITILS TO SERVE MARTINIDALE DREAMS | Tammy Byant (\$12), 299-963. Academy Divelopment. Tammy Byant (\$32), 299-963. Academy Divelopment. Tammy Byant (\$32), 299-963. Academy Divelopment. Serve Tenomed (\$31), 458-463. Mc Hennes of Floodon, Bennes Benzer Academy Divelopment. Hence Machines, 248, 671-90.1 Rise Commetities Brins Asmeth (702), 466-20\$2 Constures Development Jenstitus School, 201, 114-4465 K.B. Henne Lone Star Ryan Hawkins 730-702- | 784-4500 ZHRA Engineering Josh Campbell (713) 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 783-7788 EHRA Engineering Josh Campbell (713) 783-7788 BHRA Engineering Josh Campbell (713) 784-4500 BHRA Engineering Dank Kanshill (713) 784-4500 Contails Engineering Leuis Huwm (713) 783-7788 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,237,934.00 \$ 7,126,529.64 |
| 84 85 86 87 88 89 | Exervation, Paving and Lot Grading to serve Addalds, See, Three Water Distribution, Wastowner Collection, Storm Water Partilises and Paving to serve Tratison Gardens, See, Five WS&D for Muntang Crossing Section Six Deteration flasin to Serve Cypreswood Landing Mediciana Parkney place Six WS&D and Parkney for Parkylew Resates | Tacmung Hyanat (18)2 (399-96)3 Anadasiny Diversignment Tammy Bryant (832) (299-96)3 Anadasiny Diversignment Tammy Bryant (832) (299-96)3 Anadasiny Diversignment Siever Tennemat (19) (359-410)5 Seft Element Sefficial (34) (359-410)5 Seft Element Sefficial (34) (359-410)5 Radia (29) Provingament Heater Markinte (18) (371-90)1 Radia Cerometities Britan Annatali (102) 466-1082 Connitions Diversignment Jounthus Schumann (28) (1814-446) K.B. Home Lone Siar Ryan Hawkins 720-702- [135] Harris County MUD No. 319 / Allon Boone Hamphries | 784-4500 ZHRA Engineering Josh Campbell (713) 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Campbell (713) 785-7788 EHRA Engineering Josh Campbell (713) 784-4500 BHBA Engineering Josh Campbell (713) 784-4500 Costello Engineering Louis Brown (715) 783-7788 LIA Engineering Davind M. Tirney (713) 783-7288 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,237,934.00 \$ 7,126,729.64 \$ 691,440.20 \$ 1,450,808.60 |
| 84 85 86 87 88 89 90 | Excevation, Paving and Lot Grading to serve Adelaids, Sec. Three Water Distribution, Wastowner Collection, Storm Water Partition and Paving to serve Trevison Garden, Sec. Pive WS&D for Mustang Crossing Section Six Delirotion Bank to Serve Cypterwood Landing Meridiana Partway place Six WS&D and Paving for Partwice Results CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING PACILITIES YO SERVE MARTINDALE DREAMS SUBDIVISION Water Distribution, Scribary Sever, Drainage Facilities, Paving & Apparicultures For Cumberland Ridge Drive, Photo 2 | Tamony Bysat (18)2 (399-96)3 Andreiny Diversignment Tamony Bysat (18)2 (399-96)3 Antrickey) Development Serve Tenemat (19) 559-46(5) Self Element Filter (19) 564-16(5) Self Element Filter (19) 564-16(5) Self Element Filter (19) 579-46(6) Filter Markinet (19) 1671-90(1) Rise Communities Britan Anneals (10) 466-10(2) Connections Development Josustan Schumen (20) 114-4465 K.B. Home Lene Siter Ryan Hawkine 730-792- [285] Harris Gounty MUD No. 319 / Allon Boone Humphries Robinson | 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 785-7788 EHRA Engineering Josh Campbell (713) 785-7788 EHRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Kambell (713) 784-4500 Contails Engineering Levis Bruwn (713) 783-7788 LIA Engineering Levis Bruwn (713) 783-7788 LiA Engineering Davisd B. Tirmay (713) 953-5292 Damenos Brum Juan A. Percz (713) 527-6422 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,257,934.00 \$ 7,126,529.64 \$ 691,440.20 \$ 1,450,868.00 \$ 2,297,774.66 |
| 84 85 86 87 88 89 90 91 | Exervation, Paving and Lot Grading to serve Addalds, See, Three Water Distribution, Wastowner Collection, Storm Water Pacificies and Paving to serve Trevisors Gardens, See, Five WS&D for Mustace Grossing Section Six Octrositon flusin to Serve Cypterwood Landing Medistan Parkery plane Six WS&D and Paving for Parkeriew Resates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING PACKLITIUS TO SERVIS MARTINDALE DREAMS SUBDIVISION Water Distribution, Scottary Sewer, Drainage Facilities, Paving & Apparientments For Camberland Ridge Drive, Phote 2 Polo Rauch, Sec, 7 | Tammy Bysat (\$12), 299-963. Acadesyy Divelopment. Tammy Bysat (\$32), 299-963. Acadesyy Divelopment. Tammy Bysat (\$32), 299-963. Acadesyy Divelopment. Serve Tenomed (\$23), 469-4635 Mri Hamps of Houston, Beamen Beason Acadesyy Divelopment. Heliciar Marchiner (281), 671-901. Rite Committee Britin Amerika (702), 466-1082 Constune Development Jeauthau Schumann (281), 814-4465 K.H. Heme Lone Star Ryan Hamkins 720-202- 1283 Harris County MUD No. 319 / Allon Bease Hamphides Robition Century Commantipes Carlon River. 231-303-5149 | 784-4500 ZHRA Engineering Josh Campbell (713) 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Campbell (713) 785-7788 EHRA Engineering Josh Campbell (713) 784-4500 BHBA Engineering Josh Campbell (713) 784-4500 Costello Engineering Louis Brown (715) 783-7788 LIA Engineering Davind M. Tirney (713) 783-7288 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,237,934.00 \$ 7,126,529.64 \$ 691,440.20 \$ 1,450,808.00 \$ 2,297,774.06 \$ 319,907.34 |
| 84 85 86 87 88 89 90 91 | Exervation, Paving and Lot Grading to serve Addalds, See, Three Water Distribution, Wastewater Collection, Storm Water Pacifician and Paving to serve Tratison Gardens, See, Five WS&D for Mustang Crossing Section Six Detensition Basin to Serve Cypreswood Landing Mediciana Parkney place Six WS&D and Paving for Parkylew Restate CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACLITIES TO SERVIE MARTINDALE DREAMS WEST Distribution, Sentiary Sewer, Dulosige Facilities, Paving & Appartenances For Camberland Ridge Drive, Phase 2 Polo Raneth See, 7 Northgrove See, 5 WSDAParing | Tammy Byant (\$12), 299-963. Analoting Diviningment. Tammy Byant (\$32), 299-963. Analoting Diviningment. Tammy Byant (\$32), 299-963. Analoting Diviningment. Serve Tenomed (\$31), 659-4655 MG Element of Floration, Bennon Bennon Analoting Diviningment. Bennon Markinet, 281, 671-901. Rise Commentities Brinn Anmalin (702), 466-2082 Connaises Development Jenuthau Schumann (281), 814-4465 K.B. Heime Lone Bur Ryan Hawkine 720-202- 1283 Harris County MUD No. 319 / Allon Boone Humphries Robinson Centery Communities Carlon River. 281-333-5169 Tell Henolarey Jesob Rice (979) 235-5661 | 784-4500 ZHRA Engineering Josh Campbell (713) 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 785-4560 Contails Engineering Josh Campbell (713) 785-7788 EHRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Louis Huww (713) 784-4500 Contails Engineering Louis Huww (713) 783-7788 LJA Engineering Davind M. Tirmey (713) 953-5295 Dancooffium Juan A. Perez (713) 527-6422 LJA Engineering Pregett Des (713) 953-5206 Contails Engineering Frequett Des (713) 953-5206 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,237,934.00 \$ 7,126,129.64 \$ 691,440.20 \$ 1,450,808.00 \$ 2,297,774.04 \$ 319,907.34 |
| 84 85 86 87 88 89 90 91 92 93 | Exervation, Paving and Lot Grading to serve Addalds, See, Three Water Distribution, Wastowner Collection, Storm Water Pacificies and Paving to serve Trevisors Gardens, See, Five WS&D for Mustace Grossing Section Six Octrositon flusin to Serve Cypterwood Landing Medistan Parkery plane Six WS&D and Paving for Parkeriew Resates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING PACKLITIUS TO SERVIS MARTINDALE DREAMS SUBDIVISION Water Distribution, Scottary Sewer, Drainage Facilities, Paving & Apparientments For Camberland Ridge Drive, Phote 2 Polo Rauch, Sec, 7 | Tamony Byant (\$192, 999-963) Andreley Divelopment. Tamony Byant (\$329, 299-963) Advidency Divelopment. Tamony Byant (\$329, 299-963) Advidency Divelopment. Serve Tenoment (\$34), 459-4655 MA Element of Honories of Honories Health and Hinter (\$44), 671-9011 Rifes Communities Brinn Anneals (102), 466-1092 Connectors Development Jonothan Schumann (218), 814-4465 K.B. Homo Lone Star Nyan Henkins 720-792- [148] Henric County MUD No., 319 / Allon Boone Humphrics Robinson Contary Communities Carlos River. 231-303-6149 Toll Brenkers Jacob Rice (979) 355-5661 NEWLAND David Collengs 940-284-7267 | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 783-7788 EHRA Engineering Josh Campbell (713) 784-4500 Elifika Engineering Josh Campbell (713) 784-4500 Contails Engineering Lawis Enswer (713) 783-7788 LIA Engineering Lawis Hower (713) 783-7788 LIA Engineering Davind II. Livray (713) 953-5295 Daencoll sun Juan A. Perez (713) 527-4422 LIA Engineering Evectt Joss (713) 953-3200 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,237,934.00 \$ 7,126,529.64 \$ 691,440.20 \$ 1,450,808.00 \$ 2,297,774.06 \$ 319,907.34 |
| 84 85 86 87 88 89 90 91 | Exervation, Paving and Lot Grading to serve Addalds, See, Three Water Distribution, Wastewater Collection, Storm Water Pacifician and Paving to serve Tratison Gardens, See, Five WS&D for Mustang Crossing Section Six Detensition Basin to Serve Cypreswood Landing Mediciana Parkney place Six WS&D and Paving for Parkylew Restate CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACLITIES TO SERVIE MARTINDALE DREAMS WEST Distribution, Sentiary Sewer, Dulosige Facilities, Paving & Appartenances For Camberland Ridge Drive, Phase 2 Polo Raneth See, 7 Northgrove See, 5 WSDAParing | Tamony Bysat (\$192, 999-963) Andreloy Divelograment Tamony Bysat (\$329, 299-963) Andreloy Divelograment Tamony Bysat (\$329, 299-963) Andreloy Divelograment Siver Tensemed (\$30, 369-4665) Self Edwards of Houseauth (\$30, 369-4665) Self Edwards of Houseauth (\$30, 369-4665) Self Edwards of Houseauth (\$30, 369-4665) Helender Martines (\$41, 614-601) Rifes Communities Brinn Annualin (*102) 466-1082 Connecture Develogment Jounthus Schumann (\$28, 1) 814-4465 K.B. Henne Lene Siver Ryan Hendrine 720-762- [135] Herric County MUD No. 319 / Ailon Boone Humphries Robinson Robinson Century Communities Carlon Rivor. 231-303-5149 Toll Hendlers Jacob Rice (\$79) 255-5661 NBWLAND David Critings \$40-284-7267 Beastond Develogment (Lint Mann (\$23, 2) 885-3875 | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Cantallo Engineering Josh Campbell (713) 784-4500 Cantallo Engineering Josh Campbell (713) 784-7788 EHRA Engineering Josh Campbell (713) 784-4500 Eldika Engineering Josh Kombill (713) 784-4500 Costallo Engineering Davis Emuser (713) 783-7788 LAA Engineering Davis Huwer (713) 953-5205 Daenonilla unu Juan A. Perez (713) 527-4522 LJA Engineering Evezett Dec (713) 953-5206 Costallo Engineering William R. Zollinac (713) 783-7788 | \$ 1,782,366,34 \$ 1,466,782,37 \$ 728,825,20 \$ 1,257,934,00 \$ 7,126,729,64 \$ 691,440,20 \$ 1,450,668,00 \$ 2,297,774,06 \$ 319,907,34 \$ 1,501,854,66 |
| 84 85 86 87 88 89 90 91 92 93 | Exervation, Paving and Lot Grading to serve Addalds, See, Three Water Distribution, Wastewater Collection, Storm Water Pacifician and Paving to serve Travison Gardens, See, Pive WS&D for Muntang Crossing Section Six Detection Basis to Serve Cyprenwood Landing Medicina Parkney place Six WS&D and Paving for Parkney Research CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACILITIES TO SERVE MARTINIDALE DREAMS WEST Distribution, Sunitary Sewer, Dulonge Feellities, Priving & Appartenences For Cumberland Ridge Drive, Fluste 2 Polo Rameh Sec. 7 Northgrove Sec. 9 WSDA-Parkney Elyson Section Twenty-Six | Tamong Physus (18)2 (399-96)3 Anderdey) Development Tamong Physus (18)2 (399-96)3 Anticles() Development Tamong Physus (18)2 (399-96)3 Anticles() Development Serve Tensemal (19) 559-4605 Serve Tensemal (19) 559-4605 Serve Tensemal (19) 579-4601 Rites Commentities Britan Annich (702) 466-1082 Consoluties Development Jenuthan Schumenn (28) 114-4465 K.B. Home Lene Bitan Ryan Hankins 720-792- [283 Harris County MUD No. 319 / Ailon Beone Humphries Rehistor Rehistor Control Communities Carlon River. 231-305-6149 Toll Hratkers Jacob Rice (799) 235-5661 NBWLAND David Collings 940-286-7267 Bestend Development Clint Mann (22) 385-3875 Anademy David Collings 940-286-7267 Bestend Development Clint Mann (22) 385-3875 Anademy David Collings 940-286-7267 | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Cantella Engineering Josh Campbell (713) 784-4500 Cantella Engineering Josh Campbell (713) 784-7788 EHRA Engineering Josh Campbell (713) 784-4500 Costella Engineering Louis House (713) 784-4500 Costella Engineering Louis House (713) 783-7788 LJA Engineering Davind II. Tirmey (713) 953-5203 Dannooll sum Joan A. Perez (713) 953-5203 Costella Engineering Revent Dec (713) 953-5203 Costella Engineering Revent Dec (713) 953-5203 Costella Engineering Revent Dec (713) 953-5203 LJA Engineering Gregott Dec (713) 953-7788 BGG, Inc. John Amderson (713) 488-8278 | \$ 1,782,346.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,257,934.00 \$ 7,126,729.64 \$ 691,440,20 \$ 1,450,808.00 \$ 2,207,774.06 \$ 319,907,34 \$ 1,501,854,86 \$ 1,496,496.56 |
| 84 85 86 87 88 89 90 91 92 93 94 | Exervation, Paving and Lot Grading to serve Addalds, See, Three Water Distribution, Wastewater Collection, Storm Water Pacificia and Paving to serve Travisors Gardens, See, Pive WS&D for Mustang Grossing Section Six Outeroiten Basis to Serve Cyprerwood Landing Medidism Parkusy place Six WS&D and Paving for Parkylow Restates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACILITIES TO SERVE MARTINDALE DREAMS SUBDIVISION. Wester Distribution, Suritary Sewer, Drainage Facilities, Paving & Appartenances For Cumberland Ridge Drive, Fluste 2 Polo Ranch See, 7 Northgrove See, 9 WSDAPaving Elyson Section Twenty-Six Surset Ranch See, 2 | Tamong Physat (18)2 (399-96)3 Academy Development Tamong Physat (18)2 (399-96)3 Academy Development Steve Tevenenat (281) 659-4055 S64 Edwares of Historian, Bostone Bestor: Serve Tevenenat (281) 659-4055 S64 Edwares of Historian, Bostone Bestor: Academy Development Hesterian Machines (281) 671-8011 Rifes Commondities Britan Annahil (702) 466-1082 Constitute Development Josephana Schumann (281) 814-4465 K.El Home Lone Ster Ryan Handrine 720-202- 1283 Hatric County MUD No. 319 / Allon Bosone Humphries Robinson Canheny Communifies Center River: 21-32-3-619 Toll Brother's Jesob Rice (799) 355-5661 NEWLAND David Column 940-284-7267 Beasson Development (Sint Mason (812) 385-3875 Annahmy David Column 940-284-7267 Beasson Development (Sint Mason (812) 385-3875 Annahmy David Column 940-284-7267 | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Campbell (713) 784-4500 Contello Engineering Left Elemelle (713) 783-7788 ERRA Engineering Josh Comphell (713) 784-4500 Contello Engineering Davind Market (713) 784-4500 Contello Engineering Davind Market (713) 783-7788 LJA Engineering Davind Market (713) 983-5295 Dancooffician Josh (713) 827-4422 LJA Engineering Revert Dav (713) 953-5206 Contello Engineering Revert Dav (713) 783-7788 EGG, Jun John Anderson (713) 483-8278 PRD Land Dav. Trent Perior (281) 740-1541 | \$ 1,782,346.34 \$ 1,466,782.37 \$ 728,825.20 \$ 1,287,934.00 \$ 7,126,729.64 \$ 691,440.20 \$ 1,450,808.60 \$ 2,297,774.06 \$ 319,907.34 \$ 1,501,854.86 \$ 3,79,640.56 |
| 84 85 86 87 88 89 90 91 92 92 93 94 95 | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowaser Collection, Storm Water Pacificia and Paving to serve Travisors Garden, Sec. Pive WS&D for Mustang Grossing Section Six Octoolists Basis to Serve Cymerwood Landing Menistines Parksey place Six WS&D and Paving for Parksey Restates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACK ITLUS TO SERVIE MARTINDALE DREAMS SUBDIVISION Water Distribution, Scuttary Sever, Druinsige Facilities, Paving & Appaintenances For Cumberland Ridge Drive, Flore 2 Polo Reseth Sec. 7 Northgrave Sec. 9 WSDAPaving Elyson Section Twenty-Six Surset Ranch Sec. 2 Marzello Lakes Sec. 3 - WSD | Tamong Physus (18)2 (399-96)3 Anderdey) Development Tamong Physus (18)2 (399-96)3 Anticles() Development Tamong Physus (18)2 (399-96)3 Anticles() Development Serve Tensemal (19) 559-4605 Serve Tensemal (19) 559-4605 Serve Tensemal (19) 579-4601 Rites Commentities Britan Annich (702) 466-1082 Consoluties Development Jenuthan Schumenn (28) 114-4465 K.B. Home Lene Bitan Ryan Hankins 720-792- [283 Harris County MUD No. 319 / Ailon Beone Humphries Rehistor Rehistor Control Communities Carlon River. 231-305-6149 Toll Hratkers Jacob Rice (799) 235-5661 NBWLAND David Collings 940-286-7267 Bestend Development Clint Mann (22) 385-3875 Anademy David Collings 940-286-7267 Bestend Development Clint Mann (22) 385-3875 Anademy David Collings 940-286-7267 | 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Compbell (713) 784-4500 EHRA Engineering Josh Compbell (713) 784-4500 Elikich Engineering David Marwin (713) 784-4500 Contello Engineering David Harwin (713) 783-7788 LJA Engineering David Ja Tirney (713) 983-8295 Daccoofficum Juan A. Perce (713) 933-9292 LJA Engineering Freetst Dec (713) 933-9200 Contello Engineering William R. Zollman (713) 783-7788 BIGE, Inc. Roth Anderson (713) 488-2278 PRD Land Dev. Trens Perce (281) 760-1541 HRRA Engineering Diske McGregor (713) 784-4500 | \$ 1,782,356,34 \$ 1,406,782,37 \$ 7,28,825,20 \$ 1,257,934,00 \$ 7,126,729,64 \$ 691,440,20 \$ 1,450,808,00 \$ 2,297,774,06 \$ 3,1496,765,65 \$ 3,79,611,15 \$ 3,58,735,50 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowater Collection, Storm Water Pacificia and Paving to serve Travison Garden, Sec. Pive WS&D for Mustang Crossing Section Six Octoolis Basis to Serve Cypterwood Landing Meridians Parkany place Six WS&D and Paving for Parkylog Relates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACILITIES TO SERVIS MARTINDALE DREAMS SUBDIVISION Water Distribution, Scuttary Server, Drainage Facilities, Paving & Appartenenance For Cumberland Ridge Drive, Photo 2 Polo Rauch Sec. 7 Nortigrove Sec. 9 WSDAPaving Elyson Section Twenty-Six Sunset Randa Sec. 3 - WSD Marcell Lakes Sec. 3 - WSD Stillwater Section Six Paving | Tamony Physus (18)2 (999-96)3 Anderdey Diversignment Tamony Physus (18)2 (999-96)3 Anticlery) Development Tamony Physus (18)2 (999-96)3 Anticlery) Development Serve Tevensent (28) (599-96)3 Anticlery Development Hector MacRines (18) (61-90)1 Rise Commentities Britis Anneals (702) 466-1082 Consource Development Josuthan Schumens (28) (114-4465 K.H. Home Lene Star Ryan Hamkins 720-292- 1243 Harris County MUD No. 319 / Allon Boose Hamphrice Robinson Robinson Tall Brankers Jacob Rise (799) 235-5661 NBWLAND David Collings 940-384-7267 Bestend David Collings 940-384-7267 Bestend David Collings 940-384-7267 Bestend David Collings 940-384-7267 Anademy David Collings 940-384-7267 Anademy David Collings 940-384-7267 Medican Medican LLC Anticans / Josh Penion | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering David Manuel (713) 784-4500 Contello Engineering David Hunwe (713) 783-7788 LJA Engineering David Ma. Tirney (713) 983-5295 Dancoofficum Juan A. Perce (713) 527-4422 LJA Engineering Freetst Dec (713) 523-5200 Contello Engineering William R. Zollman (713) 783-7788 BGE, Inc Aland Dave Treas Parce (218) 760-1541 BHRA Engineering Likeks Modregor (713) 784-4500 BRRA Engineering Likeks Modregor (713) 784-4500 BGE, Inc Aland Dave Treas Parce (713) 784-4500 BGE, Inc Aland Engineering Likeks Modregor (713) 784-4500 BGE, Inc Aland Engineering Likeks Modregor (713) 784-4500 | \$ 1,782,346,34 \$ 1,406,782,37 \$ 7,28,825,20 \$ 1,247,924,00 \$ 7,126,729,64 \$ 691,440,20 \$ 1,450,908,90 \$ 2,247,774,06 \$ 11,501,854,86 \$ 1,496,496,56 \$ 3,78,611,15 \$ 3,58,73,50 \$ 689,101,34 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastewater Collection, Storm Water Pacifisies and Paving to serve Trivison Garden, Sec. Pive WS&D for Mustang Crossing Section Six Octoolis Basis to Serve Cypterwood Landing Medidina Parkany place Six WS&D and Paving for Parkylog Relates CONSTRUCTION OF THE WATER, SAINTARY SEWER, DRAINAGE & PAVING FACILITIES TO SERVE MARTINDALE DREAMS SUBDIVISION Water Distribution, Scotlary Server, Druinage Feelilities, Paving & Appartenumoses For Cumberland Ridge Drive, Photo 2 Poto Rauch Sec. 7 Northgrove Sec. 9 WSDAPaving Eilysen Section Twenty-Six Sunset Rauch Sec. 3 - WSD Martillo Lakes Sec. 3 - WSD Stillwater Secution Six Paving South Mandow Photo Sec. 2 | Tamong Physat (18)2 (399-96)3 Andering Diswingsment Tamong Physat (38)2 (399-60). Anticleny Development Tamong Physat (38)2 (399-60). Anticleny Development Serie Tenneurit (28) (594-6057 Mediciny Physiologuent Helicin Marcinet (28) (671-901) Rise Commedities Britis Anniels (702) 466-1092 Conscience Development Josushan Schumene (28) (114-4465 K.B. Henn Lene Ster Ryan Hendrin 720-292- 1283 Harris Courty MUD No. 319 / Allon Boose Hamphides Robinson Century Communities Carlos River. 231-305-5149 TORI Britisher Scole Rice (799) 255-5661 NBWLAND David Columgs 940-284-72-67 Bestond Development Clint Mann (312) 385-3875 Andering Development Series Towerset (28) (593-4055 Methigs House, LLC Antons J. Josh Penton Leakingson 26, LP Ken Williams (312) 475-2266 | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Compbell (713) 784-4500 BIBICA Engineering Josh Compbell (713) 784-4500 Descallo Engineering Davind M. Tirmey (713) 783-7788 LiA Engineering Davind M. Tirmey (713) 783-5292 Dancooffisum Juan A. Perca (713) 527-5422 LJA Engineering Everett Deo (713) 953-5200 Costello Engineering William R. Zollman (713) 783-7788 BIGE, Inc John Anderson (713) 488-8278 PRD Land Dev. Tyreat Paras (281) 760-1541 RHRA Engineering Bibles McGregor (713) 784-4500 BIGE, Inc Aland Dev. Tyreat Paras (281) 760-1541 RHRA Engineering Bibles McGregor (713) 784-4500 BIGE, Inc Aland Deng (713) A88-8327 HKHA Engineering Bibles McGregor (713) 784-4500 RHRA Engineering Bibles McGregor (713) 784-4500 | \$ 1,782,346,34 \$ 1,406,782,37 \$ 728,825,20 \$ 1,257,924,00 \$ 7,126,429,64 \$ 691,440,20 \$ 1,450,608,00 \$ 2,297,774,06 \$ 31,496,496,56 \$ 3,496,496,56 \$ 3,496,496,56 \$ 3,597,35,61,15 \$ 3,58,773,50 \$ 689,101,34 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowater Collection, Storm Water Pacifisies and Paving to serve Trivison Garden, Sec. Pive WS&D for Mustang Crossing Section Six Octomics Basis to Serve Cypterwood Landing Medidina Parkney place Six WS&D and Paving for Parkney Restates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING FACILITIES TO SERVIE MARTINDALE DREAMS SUBDIVISION Water Distribution, Scutlary Sever, Dutinise Facilities, Paving & Appartmentones For Cumberland Ridge Drive, Phase 2 Polic Raseth Sec. 7 Northgrove Sec. 9 WSDAPaving Elyson Section Twenty-Six Sunset Ranch Sec. 2 Martiello Lakes Sec. 3 - WSD Stilluster Secution Six Paving South Mandow Place Sec. 2 Foste Ridge Sec. 15 | Tamony Byant (\$12), 299-963. Anothery Diversignment. Tamony Byant (\$32), 299-963. Anothery Diversignment. Tamony Byant (\$32), 299-963. Anothery Diversignment. Soft Evenes of Household, Berthele Beater. Self Evenes of Household, Berthele Beater. Anothery Diversignment. Beater and Household, Berthele Beater. Anothery Diversignment Journal Schumen (201) 114-4465 K.B. Home Lene Siter Ryan Hawkine 720-702- 1283 K.B. Home Lene Siter Ryan Hawkine 720-702- 1285 K.B. Home Lene Siter Ryan Hawkine 720-702- 1281-303-5149 Toll Hrathers Jacob Rice (979) 255-5661 NEWLAND David Chiungs 40-284-7267 Bentsod Development Chin Mann (\$22) 385-3875 Anothery Diversignment Chin Mann (\$23) 385-3875 Anothery Diversignm | TRA-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Compbell (713) 783-7788 BERA Engineering Josh Compbell (713) 784-4500 Eliska Engineering Leuis Knoball (713) 784-4500 Costello Engineering Davind 3t. Tirrasy (713) 783-7788 LIA Engineering Davind 3t. Tirrasy (713) 783-5225 Damondisum Juan A. Perca (713) 527-6422 LJA Engineering Envest Dec (713) 553-5200 Costello Engineering William R. Zollman (713) 783-7788 BIGE, Inc John Anderson (713) 488-2378 PRD Land Dov. Treas Paras (281) 760-1541 BIRKA Engineering Bilato Molfregar (713) 784-4500 BIRKA Righteering Bilato Molfregar (713) 784-4500 BIGE, Inc Alix D. Bose (713) 488-8327 HRR A Engineering Kara Joshum (713) 784-4500 Costello Engineering Kara Joshum (713) 784-4500 Costello Engineering Kara Joshum (713) 784-4500 | \$ 1,782,346,34 \$ 1,406,782,37 \$ 728,825,20 \$ 1,257,954,00 \$ 1,257,954,00 \$ 1,7126,729,64 \$ 591,440,20 \$ 1,450,808,00 \$ 2,207,774,06 \$ 314,907,34 \$ 1,501,354,86 \$ 5,501,354,86 \$ 5,735,611,55 \$ 5,087,735,50 \$ 6,69,103,34 \$ 5,511,892,62 \$ 7,575,655,50 \$ 4,925,727,65 |
| 84 85 86 87 88 89 90 91 92 95 94 95 96 97 98 | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowner Collection, Storm Water Pacifities and Paving to serve Trivison Garden, Sec. Pive WS&D for Ministery Crossing Section Six Outersities Basia to Serve Cyprowood Landing Mendalma Parkney place Six WS&D and Paving for Parkniew Resates CONSTRUCTION OF THE WATER, SANTARY SEWER, DRAINAGE & PAVING PACKLITIES TO SERVIS MARTINDALE DREAMS SURDIVISION Water Distribution, Scotiatry Sewer, Drainage Facilities, Paving & Apparteneneous For Camberland Relige Drive, Phase 2 Pole Ranch Sec. 7 Northgrove Sec. 9 WSD&Parkney Elyson Section Twenty-Six Sursal Ranch Sec. 2 Martello Lakes Sec. 3 – WSD SUllwater Section Six Paving Souds Mendow Place Sec. 2 Woodlands Rill Section 12 | Tamong Physat (18)2 (399-96)3 Academy Devicement Tamong Physat (28)2 (399-96)3 Academy Devicement Tamong Physat (28)2 (399-96)3 Academy Devicement Store Terestered (28) (699-80)3 Self Edward (28) (699-80)3 Self Edward (28) (699-80)3 Academy Devolopment Belancy Academy Devolopment Belancy (28) (679-90)1 Rise Commodities Britan Annahi (702) 466-1082 Constitute Devolopment Journal (702) 466-1082 Constitute Devolopment Journal (702) 466-1082 Academy Devolopment Carlos River. 281-343-348 Tamin County MUD No. 319 / Allon Booke Humphrics Robinson Century Communities Carlos River. 281-343-3489 Tall Broders Jacob Rice (799) 355-5661 NEWLAND David Columgs 940-284-7267 Bessond Devolopment Cition Masson (812) 385-3875 Academy David opment Selfs Townson (82) 659-3655 Meritage Heines, LLC Anknown J On Persion Leadingon 26, LP Ken Williams (832) 475-2266 D.R. Horton-Faxes Lid Danial Miller (832) 363-3850 R. Horton-Faxes Lid Danial Miller (832) 363-3850 | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 784-7788 EHRA Engineering Josh Campbell (713) 784-4500 Elilica Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Enuwer (713) 783-7788 LIA Engineering David Bruwer (713) 783-7788 LIA Engineering David Bruwer (713) 527-6422 LIA Engineering Cavid Bruwer (713) 527-6422 LIA Engineering Evecti Deo (713) 953-3200 Contails Engineering Evecti Deo (713) 953-3200 Contails Engineering Evecti Deo (713) 953-3200 Entra Anderson (713) 488-3278 PRD Land Dev. Treat Person (281) 760-1541 EHRA Engineering Likek McGregor (713) 784-4500 BGG, Inc Alic D. Bose (713) 488-3278 RGB A Engineering Likek McGregor (713) 784-4500 BGG, Inc Alic D. Bose (713) 488-3278 RGB A Engineering Kasa Joshton (713) 784-4500 Contails Dispineering Kasa Joshton (713) 783-7788 LIA Engineering Kasa Joshton (713) 783-7788 | \$ 1,782,346,34 \$ 1,406,782,37 \$ 728,825,20 \$ 1,257,954,00 \$ 1,257,954,00 \$ 1,726,429,64 \$ 591,440,20 \$ 1,450,808,00 \$ 2,207,774,06 \$ 3149,073,14 \$ 1,501,354,66 \$ 3,795,611,5 \$ 3,507,73,50 \$ 669,103,34 \$ 5,511,892,63 \$ 3,797,605 \$ 4,92,27,61 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 10b | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowner Collection, Storm Water Pacifities and Paving to serve Trivison Garden, Sec. Pive WS&D for Mintang Crossing Section Six Octorion Basia to Serve Cyprowood Landing Mendalma Parkney place Six WS&D and Paving for Parkniew Resates CONSTRUCTION OF THE WATER, SANTARY SEWER, DRAINAGE & PAVING PACKLITIES TO SERVIS MARTINDALE DREAMS SURDIVISION Water Distribution, Scotiatry Sewer, Drainage Facilities, Paving & Apparientmones For Camberland Ridge Drive, Phase 2 Pole Ranch Sec. 7 Northgrove Sec. 9 WSDA-Paving Elysen Section Twenty-Six Sunset Ranch Sec. 2 Martello Lakea Sec. 3 - WSD SUllwater Sociato Six Paving Sould Mendow Place Sec. 2 Woodlands Hill Section 12 Meridiana Section 47 | Tamong Physat (\$192) 399-961 Academy Development Tamong Physat (\$192) 299-961 Academy Development Tamong Physat (\$192) 299-961 Academy Development Steve Terestonia (\$181) 659-4055 Mel Memory of Heading, Bostonia Biototic Academy Development Academy Development Academy Development Academy Development Academy (702) 466-1082 Constitute Development Academy (702) 466-1082 Constitute Development Academy (702) 466-1082 K.H. Herne Lone Ster Ryan Hardins 720-202- 1243 Harris Consty MUD No. 319 / Alton Boose Hamphrica Robbinson Contrary MUD No. 319 / Alton Boose Hamphrica Robbinson Contrary Communities Carlon River. 281-343-3469 Toll Broduces Development Academy (702) 355-5661 NEWLANL) David Columgs 940-284-7367 Beastond Development Chin Mason (812) 385-3875 Anademy David opment. Seyts Temperad (281) 659-3055 Meritage Homes LLC Acidems / Josh Penind Lockagon 26, LP Ken Williams (832) 475-2266 D.R. Horton-Texas Lid Danish Miller (832) 902-861 K.B. Herne Lone Ster Danish Miller (832) 902-861 K.B. Herne Lone Ster Danish Miller (832) 908-3850 The Weellinds Levelopment / Antonio Par (481) 719- 8151 | TRA-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Compbell (713) 783-7788 BERA Engineering Josh Compbell (713) 784-4500 Eliska Engineering Leuis Knoball (713) 784-4500 Costello Engineering Davind 3t. Tirrasy (713) 783-7788 LIA Engineering Davind 3t. Tirrasy (713) 783-5225 Damondisum Juan A. Perca (713) 527-6422 LJA Engineering Envest Dec (713) 553-5200 Costello Engineering William R. Zollman (713) 783-7788 BIGE, Inc John Anderson (713) 488-2378 PRD Land Dov. Treas Paras (281) 760-1541 BIRKA Engineering Bilato Molfregar (713) 784-4500 BIRKA Righteering Bilato Molfregar (713) 784-4500 BIGE, Inc Alix D. Bose (713) 488-8327 HRR A Engineering Kara Joshum (713) 784-4500 Costello Engineering Kara Joshum (713) 784-4500 Costello Engineering Kara Joshum (713) 784-4500 | \$ 1,742,546,34 \$ 1,406,782,37 \$ 728,835,20 \$ 1,237,934,00 \$ 1,237,934,00 \$ 1,247,926,44 \$ 591,440,20 \$ 1,450,808,00 \$ 2,237,774,66 \$ 314,907,14 \$ 1,501,854,86 \$ 375,611,15 \$ 3,587,751,00 \$ 6,681,03,34 \$ 5,11,892,63,50 \$ 4,92,572,61 \$ 2,15,068,00 \$ 1,536,486,65 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 10b | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastewater Collection, Storm Water Pacifities and Paving to serve Trivisors Garden, Sec. Pive WS&D for Ministery Crossing Section Six Deteroin Blaid to Serve Cymrwood Landing Medidinar Parkway place Six WS&D and Paving for Parkylow Resates GONFTRICTION OF THE WATER, SANTARY SEWER, DRAINAGE & PAVING PACK, ITIUS TO SERVIS MARTINDALE DREAMS SURDIVISION Water Distribution, Sociatry Sewor, Druintge Facilities, Paving & Appartenences For Camberland Ridge Drive, Phase 2 Pole Raneth Sec. 7 Northgrove Sec. 9 WSDA-Paving Elyson Section Twenty-Six Sunset Raneth Sec. 2 Martello Lakes Sec. 3 - WSD SUllwater Sociation Six Paving South Mendow Place Sec. 2 Peate Ridge Sec. 15 Bryte Crossing Sec. 2 Woodlands Hill Section 12 Meridians Section 47 Carallo Lakes Febra 3 Detention-Phase 2 | Tamong Physat (\$192) 399-9631 Academy Development. Tamong Physat (\$192) 299-963. Academy Development. Steve Trevenent (\$187) 659-651 Self Remarks of Historian, Benneth Bennet. Steve Trevenent (\$187) 659-4635 Self Remarks of Historian, Benneth Bennet. Reductory Development. Bitse Committee Britan Amerika (702) 466-1082 Construes Development Journal on Schumann (281) 814-4465 K.B. Heme Lone Ster Ryan Herskine 720-202- 1283 Hatric County MUD No. 319 / Allon Bennet Humphries Robinson. Contings Communified Carlon River. 213-303-6189 Toll Broducty Jecus (979) 355-5661 NEWLAND David Columgs 940-284-7267 Benneth | 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 784-7788 EHRA Engineering Josh Campbell (713) 784-4500 Elilica Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Enuwer (713) 783-7788 LIA Engineering David Bruwer (713) 783-7788 LIA Engineering David Bruwer (713) 527-6422 LIA Engineering Cavid Bruwer (713) 527-6422 LIA Engineering Evecti Deo (713) 953-3200 Contails Engineering Evecti Deo (713) 953-3200 Contails Engineering Evecti Deo (713) 953-3200 Entra Anderson (713) 488-3278 PRD Land Dev. Treat Person (281) 760-1541 EHRA Engineering Likek McGregor (713) 784-4500 BGG, Inc Alic D. Bose (713) 488-3278 RGB A Engineering Likek McGregor (713) 784-4500 BGG, Inc Alic D. Bose (713) 488-3278 RGB A Engineering Kasa Joshton (713) 784-4500 Contails Dispineering Kasa Joshton (713) 783-7788 LIA Engineering Kasa Joshton (713) 783-7788 | \$ 1,782,546,34 \$ 1,404,782,37 \$ 728,835,20 \$ 1,237,734,00 \$ 1,237,734,00 \$ 1,24,729,64 \$ 591,440,20 \$ 1,450,808,00 \$ 2,297,774,06 \$ 119,907,34 \$ 1,501,854,86 \$ 5,1496,496,56 \$ 3,735,51 \$ 5,696,103,34 \$ 5,11,896,496,56 \$ 3,18,906,24 \$ 3,18,906,24 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,26 \$ 3,18,906,27,81 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 100 101 | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastowner Collection, Storm Water Pacifities and Paving to serve Trivison Garden, Sec. Pive WS&D for Mintang Crossing Section Six Octorion Basia to Serve Cyprowood Landing Mendalma Parkney place Six WS&D and Paving for Parkniew Resates CONSTRUCTION OF THE WATER, SANTARY SEWER, DRAINAGE & PAVING PACKLITIES TO SERVIS MARTINDALE DREAMS SURDIVISION Water Distribution, Scotiatry Sewer, Drainage Facilities, Paving & Apparientmones For Camberland Ridge Drive, Phase 2 Pole Ranch Sec. 7 Northgrove Sec. 9 WSDA-Paving Elysen Section Twenty-Six Sunset Ranch Sec. 2 Martello Lakea Sec. 3 - WSD SUllwater Sociato Six Paving Sould Mendow Place Sec. 2 Woodlands Hill Section 12 Meridiana Section 47 | Tamong Physus (18)2 (399-96)3 Academy Development Tamong Physus (18)2 (399-96)3 Academy Development Steve Treasment (281) (559-46)5 564 Edwards of Historian, Beatones Seve Treasment (281) (579-46)5 564 Edwards (281) (579-46)5 564 Edwards (281) (579-46)5 564 Edwards (281) (579-46)5 565 Edwards (281) (579-46)5 565 Edwards (281) (579-46)1 566 Edwards (281) (579-46)1 567 Edwards (281) (579-46)1 568 Edwards (281) (579-46)1 | TRHA-SEGU ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contails Engineering Josh Xenubull (713) 783-7788 LIA Engineering David II. Tirray (713) 953-5295 Daencolleum Juan A. Perez (713) 527-4422 LJA Engineering Evecti Jose (713) 953-5200 Contails Engineering Evecti Jose (713) 953-5200 Contails Engineering Elika No. Gregor (713) 783-7788 RIGG, Inc. John Anderson (713) 488-8278 PRD Land Dev. Treat Paras (281) 760-1541 BHRA Engineering Blake McGregor (713) 784-4500 BGE, Inc Alter D. Boos (713) A88-8327 RIGHA Engineering Jika McGregor (713) 784-4500 Contails Engineering Jika McGregor (713) 784-4500 Contails Engineering Jika McGregor (713) 784-4500 Contails Engineering Kara Joshan (713) 783-7788 LIA Engineering Kara Joshan (713) 783-7788 LIA Engineering McCan McGall McJia Ir. (713) 783-7788 LIA Engineering Daen Kernfall (713) 783-5708 BHRA Engineering Daen Kernfall (713) 783-5708 BHRA Engineering Daen Kernfall (713) 784-4500 | \$ 1,742,546,34 \$ 1,406,782,37 \$ 728,835,20 \$ 1,237,934,00 \$ 1,237,934,00 \$ 1,247,926,44 \$ 591,440,20 \$ 1,450,808,00 \$ 2,237,774,66 \$ 314,907,14 \$ 1,501,854,86 \$ 375,611,15 \$ 3,587,751,00 \$ 6,681,00,34 \$ 5,11,892,63,50 \$ 4,92,572,61 \$ 2,15,068,00 \$ 1,536,486,65 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 10b | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastewater Collection, Storm Water Pacifities and Paving to serve Trivisors Garden, Sec. Pive WS&D for Ministery Crossing Section Six Deteroin Blaid to Serve Cymrwood Landing Medidinar Parkway place Six WS&D and Paving for Parkylow Resates GONFTRICTION OF THE WATER, SANTARY SEWER, DRAINAGE & PAVING PACK, ITIUS TO SERVIS MARTINDALE DREAMS SURDIVISION Water Distribution, Sociatry Sewor, Druintge Facilities, Paving & Appartenences For Camberland Ridge Drive, Phase 2 Pole Raneth Sec. 7 Northgrove Sec. 9 WSDA-Paving Elyson Section Twenty-Six Sunset Raneth Sec. 2 Martello Lakes Sec. 3 - WSD SUllwater Sociation Six Paving South Mendow Place Sec. 2 Peate Ridge Sec. 15 Bryte Crossing Sec. 2 Woodlands Hill Section 12 Meridians Section 47 Carallo Lakes Febra 3 Detention-Phase 2 | Tamong Physat (\$192) 399-9631 Academy Development. Tamong Physat (\$192) 399-9631 Academy Development. Steve Treasment (\$281) 659-4635 S461 Memora of Hooding, Bennen, Benner. Steve Treasment (\$281) 651-8011 Rite Communities (\$281) 651-8011 Rite Communities British Annels (\$722) 466-1082 Constures Development Josephan Schumann (\$281) 814-4465 K.B Herme Lone Ster Ryan Herskine 720-202- 1283 Hatric Country MUD No. 3197 Allen Boone Humphrics Robinson Century Communities Carlos River. 213-132-6149 Toll Brestlers' Jacob Rice (\$79) 255-5661 NBWLAND David Cottungs 940-284-7267 Benstend Development Chint Mann (\$22) 385-3875 Academy David Opinent. Seve Treverend (\$281) 659-4055 Markings Romes, LC Ankanna / Josephan Part (\$281) 719- Step Townsend (\$281) 659-4055 D.R. Horton-Texas Ltd Daniel Miller (\$232) 302-8481 K.B. Herne Lone Star Daniel Miller (\$232) 302-8481 K.B. Herne Lone Star Daniel Miller (\$232) 302-8481 R.B. Herne Lone Star Daniel Horton (\$232) 466-1081 Academy Development. The Werellinsia Development (\$101) 466-1081 Academy Development (\$103) 999-9631 Academy Development. The Werellinsia Development (\$101) 466-1081 Academy Development. The Werellinsia Developm | TRA-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Campbell (713) 784-4500 Contello Engineering Josh Compbell (713) 784-4500 ERRA Engineering Josh Compbell (713) 784-4500 ERRA Engineering Davind Ju. Tirmey (713) 783-7788 LJA Engineering Davind Ju. Tirmey (713) 983-5295 Daccoofficum Juan A. Perce (713) 527-5422 LJA Engineering Freetst Dec (713) 523-5206 Contails Engineering William R. Zollman (713) 783-7788 BGE, Jun Path Anderson (713) 483-2278 BGE, Jun PRD Land Dev. Treest Parce (281) 760-1541 BHRA Engineering Disks McGregor (713) 784-4500 BRRA Engineering Links McGregor (713) 784-4500 BGE, Jun Akir D, Rose (712) 488-2378 LJA Engineering Mara Joskon (713) 784-4500 Contollo Engineering Mara Joskon (713) 784-4500 Estra Anglineering Mich McGregor (713) 784-4500 Estra Anglineering Disks McGregor (713) 784-4500 | \$ 1,742,546,34 \$ 1,404,782,37 \$ 7,26,432,64 \$ 1,27,734,00 \$ 1,27,734,00 \$ 1,27,734,00 \$ 1,450,868,00 \$ 2,277,74,06 \$ 119,907,34 \$ 1,501,854,86 \$ 1,496,496,56 \$ 1,496,496,56 \$ 1,496,496,56 \$ 3,73,501,501 \$ 4,94,737,501 \$ 5,04,868,00 \$ 1,516,868,00 \$ 1,516,868,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,516,848,00 \$ 1,616,848,00 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 100 101 | Exervation, Paving and Lot Grading to serve Addalds, Sec. Three Water Distribution, Wastewater Collection, Storm Water Pacifities and Paving to serve Travisors Garden, Sec. Pive WS&D for Mustaing Crossing Section Six Deterition Baria to Serve Cyntrowood Landing Menidiana Parkway place Six WS&D and Paving for Parkylow Resates CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING PACKITIUS TO SERVIS MARYINDALE DREAMS SURDIVISION Water Distribution, Section Section, Processor, Pr | Tamong Physus (18)2 (399-96)3 Academy Development Tamong Physus (18)2 (399-96)3 Academy Development Steve Treasment (281) (559-46)5 564 Edwards of Historian, Beatones Seve Treasment (281) (579-46)5 564 Edwards (281) (579-46)5 564 Edwards (281) (579-46)5 564 Edwards (281) (579-46)5 565 Edwards (281) (579-46)5 565 Edwards (281) (579-46)1 566 Edwards (281) (579-46)1 567 Edwards (281) (579-46)1 568 Edwards (281) (579-46)1 | TRIA Singlinearing Josh Campbell (713) 784-4500 EHRA Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Compbell (713) 784-4500 EHRA Engineering Josh Compbell (713) 784-4500 EHRA Engineering Josh Compbell (713) 784-4500 Costello Engineering Davied Huwwn (713) 783-7788 LDA Engineering Davied Huwwn (713) 783-7788 LDA Engineering Davied Huwmn (713) 783-7788 LDA Engineering Davied Humwn (713) 783-7788 LDA Engineering Davied Humwn (713) 783-7788 EDE LAND Dave Treas Parase (213) 527-4422 LJA Engineering Unitlian R. Zollman (713) 783-7788 GEG, Inc. Hall A Engineering Like No. More (713) 784-4500 EHRA Engineering Like No. More (713) 784-4500 BGE, Inc. Alix D. Bose (712) 488-8278 HRR A Engineering Like No. More (713) 784-4500 Costello Engineering Mate McGregor (713) 784-4500 EHRA Engineering Dave Kendull (713) 783-7788 LJA Engineering Dave Kendull (713) 784-4500 EHRA Engineering Like McGregor (713) 784-4500 | \$ 1,782,356,34 \$ 1,406,782,37 \$ 7.28,825,20 \$ 1,257,934,00 \$ 1,726,729,64 \$ 591,440,20 \$ 1,450,868,00 \$ 2,207,774,06 \$ 118,907,14 \$ 1,501,854,86 \$ 1,496,496,56 \$ 1,496,496,56 \$ 3,73,561,15 \$ 3,581,735,59 \$ 6,89,103,34 \$ 5,311,892,62 \$ 7,37,569,50 \$ 4,92,372,61 \$ 2,15,668,00 \$ 1,556,686,00 \$ 1,556,686,00 \$ 1,536,445,00 \$ 1,633,445,00 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 100 101 102 | Exervation, Paving and Lot Grading to serve Addalain, Sec. Three Water Distribution, Wastewater Collection, Storm Water Pacifities and Paving to serve Travisors Gardens, Sec. Pive WS&D for Mustaing Crossing Section Six Deteroition Baria to Serve Cyrerwood Landing Menidiana Parkway place Six WS&D and Parking for Parkylow Resutes CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING PACKLIFIUS TO SERVIS MARYINDALE DREAMS SUBDIVISION Water Distribution, Scutiary Sewer, Dulosge Facilities, Paving & Approximances For Camberland Ridge Drive, Phase 2 Polo Ranch Sec. 7 Northgrove Sec. 9 WSDAParking Elyson Section Twenty-Six Sunset Ranch Sec. 2 Marzello Lakes Sec. 3 - WSD Stillbuster Section Six Paving South Mendow Phoe Sec. 2 Foste Ridge Sec. 15 Bryso Crossing Sec. 2 Woodlands Rill Section 12 Meridians Section 47 Curollo Lakes Phase 3 Detection-Phase 2 River Edge Gravel R. Entrace Construction of Water, Sewer, and Distribago Improvenents for Mustang Crossing Section 6 | Tamong Physat (\$192) 399-9631 Academy Development. Tamong Physat (\$192) 399-9631 Academy Development. Steve Treasment (\$281) 659-4635 S461 Memora of Hooding, Bennen, Benner. Steve Treasment (\$281) 651-8011 Rite Communities (\$281) 651-8011 Rite Communities British Annels (\$722) 466-1082 Constures Development Josephan Schumann (\$281) 814-4465 K.B Herme Lone Ster Ryan Herskine 720-202- 1283 Hatric Country MUD No. 3197 Allen Boone Humphrics Robinson Century Communities Carlos River. 213-132-6149 Toll Brestlers' Jacob Rice (\$79) 255-5661 NBWLAND David Cottungs 940-284-7267 Benstend Development Chint Mann (\$22) 385-3875 Academy David Opinent. Seve Treverend (\$281) 659-4055 Markings Romes, LC Ankanna / Josephan Part (\$281) 719- Step Townsend (\$281) 659-4055 D.R. Horton-Texas Ltd Daniel Miller (\$232) 302-8481 K.B. Herne Lone Star Daniel Miller (\$232) 302-8481 K.B. Herne Lone Star Daniel Miller (\$232) 302-8481 R.B. Herne Lone Star Daniel Horton (\$232) 466-1081 Academy Development. The Werellinsia Development (\$101) 466-1081 Academy Development (\$103) 999-9631 Academy Development. The Werellinsia Development (\$101) 466-1081 Academy Development. The Werellinsia Developm | TRA-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Campbell (713) 784-4500 Costello Engineering Josh Compbell (713) 784-4500 ERRA Engineering Josh Compbell (713) 784-4500 ERRA Engineering Josh Kombell (713) 784-4500 Costello Engineering Daviet Huwwn (713) 783-7788 LDA Engineering Towiet Daviet Huwwn (713) 783-7788 ERRA Engineering United Theory (713) 784-4500 Costello Engineering United Nov Nov Company (713) 784-4500 ERRA Engineering Likelo MoGregor (713) 784-4500 ERRA Engineering Likelo MoGregor (713) 784-4500 ERRA Engineering Daviet Media Jr. (713) 783-7788 LIA Engineering Mates McGregor (713) 784-4500 ERRA Engineering Daviet Kerelonder (713) 784-4500 ERRA Engineering Carlo (713) 784-4500 | \$ 1,782,356,34 \$ 1,406,782,37 \$ 7.28,825,20 \$ 1,257,934,00 \$ 1,126,729,64 \$ 5,91,440,20 \$ 1,450,806,00 \$ 2,207,774,06 \$ 3 19,907,34 \$ 1,501,354,86 \$ 3,496,496,56 \$ 3,79,611,15 \$ 3,511,897,62 \$ 3,79,7605,00 \$ 3,1,506,800 \$ 1,456,496,56 \$ 3,79,7605,00 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,496,50 \$ 3,1,506,500 \$ 5,006,15,18 \$ 7,728,23,296 \$ 1,442,514,696 \$ 1,442,514,696 |
| 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 100 101 102 103 | Exervation, Paving and Lot Grading to serve Addalain, Sec. Three Water Distribution, Wastewater Collection, Storm Water Pacifities and Paving to serve Tradison Gardens, Sec. Pive WS&D for Mutating Crossing Section Six Deteroition Basia to Serve Cyperwood Landing Mendidiana Paving for Patricky Researce CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE & PAVING PACILITIES TO SERVIS MARTINDALE DREAMS SUBDIVISION Water Distribution, Suntiary Severt, Drulosige Pacifities, Paving & Appartenences For Camberland Ridge Drive, Photo 2 Polo Rauch Sec. 7 Northgrove Sec. 9 WSDAPaving Elyson Section Twenty-Six Sunaci Rauch Sec. 2. Marcello Lakes Sec. 3 - WSD Stillwater Section Six Paving South Mendow Photo Sec. 2 Foste Ridge Sec. 15 Brysn Crossing Sec. 2 Wendiands Hill Section 12 Meridians Section 47 Cantillo Lakes Phaze 3 Deteroitor-Phaze 2 River Edge Gravel Rd. Entrace Construction of Water, Server, and Drainage Improvements for Mustang Grossing Section 6 Stillwater Section Six WSD | Tamong Physat (18)2 (399-96)3 Academy Development Tamong Physat (28)2 (399-96)3 Academy Development Tamong Physat (28)2 (399-96)3 Academy Development Store Terestend (28) (699-80)5 Mel Memory of Terestend (28) (69 | TRA-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 Cantallo Engineering Josh Campbell (713) 784-4500 Cantallo Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Campbell (713) 784-4500 ERRA Engineering Josh Kombill (713) 784-4500 Costello Engineering Davind II. Tirmey (713) 783-7788 LIA Engineering Davind III. Tirmey (713) 983-5205 Daenonilla una Juan A. Perez (713) 527-4422 LIA Engineering Review ID (713) 527-5205 Costello Engineering William R. Zollinac (713) 783-7788 BEG, Jua John Anderton (714) 483-8278 PRD Land Dev. Trent Feor (281) 760-1541 ERRA Engineering Bilako McGregor (713) 784-4500 BIRRA Engineering Likho McGregor (713) 784-4500 BCE, Jua Alix D. Bose (713) 488-8272 RHRA Engineering Mich McGregor (713) 784-4500 ERRA Engineering Mich McGregor (713) 784-4500 ERRA Engineering Mich McGregor (713) 784-4500 ERRA Engineering Dison Kendull (713) 784-4500 ERRA Engineering Hikke McGregor (713) 784-4500 | \$ 1,782,556.34 \$ 1,406,782.37 \$ 728,825.20 \$ 1,237,94.00 \$ 7,126,129.64 \$ 691,440.20 \$ 1,450,808.00 \$ 2,297,774.06 \$ 318,907.34 \$ 1,501,854.86 \$ 1,495,496.56 \$ 373,611.15 \$ 338,773.50 \$ 689,103.34 \$ 5,511,892.62 \$ 7,575,59.50 \$ 4,925,576.51 \$ 2,15,068.00 \$ 1,456,249.65 \$ 1,453,445.00 \$ 10,015.18 |

| | | Cantury Communities Carlos River, | LJA Engineering | |
|-----|--|---|--|-----------------|
| 110 | Paying and Appurtenances to Serve Polo Ranch Boulevard | 281-303-6149 | Everett Dee (713) 953-5200 | \$ 970,763.54 |
| 111 | MANDOLA FARMS MASS GRADING | Merking Humes of Texas / Meguyer Hemabuilders, Inc | Odyssoy Engineering Megan L. Crutcher (281) 396-0240 | \$ 921,220.00 |
| 112 | WATER DISTRIBUTION, SANTARY SEWER DRAINAGE FACILITIES AND PAVING APPURTENANCES TO CUMBERLAND RIDGE DRIVE, PHASE 2 | Harris County MUD No. 319 / Cypross 600 Development Partners, LC | DannonBaum Adam Rinchert (713) 520-9570 | \$ 2,297,774.06 |
| 113 | Construction of the Water, Smiltary Sewer and Druinege Feolistics To Serve Cane Island sec. 25 | Rise Communities Brian Asseth (702) 466-2082 | EffRA Engineering Blake McGregor (713) 784-4500 | \$ 1,068,812.20 |
| 114 | Exceptiton, Paying to Serve Orten Tralls | Bensond Development Will Besson (281)932-7836 | Odyssoy Engineering Sarah Abrahama (281) 306-0240 | 8 1,190,069.03 |
| 115 | Construction of the water, sanitary sewer & drainage facilities to servepolo ranch bouleyard phase ii and lou waters parkway | Century Communities Carlos River, 281-303-6149 | LJA Engineering Byorest Dec (713) 953-5200 | 8 1,091,925.20 |
| 116 | Clearing and Clubbing to Serve South Mondows | Academy Development. Steve Townsond (281) 659-4056 | LJA Engineering Steven Perex (713) 952-5260 | \$ 269,905,92 |
| 117 | Water, Sanitary Sower and Draioage Facilities to Sorve Dollroso, Section 7 | Harris County MUD No. 319 / Cypress 600 Development Partners, LC | DannenBuum Adam Rinehart (713) 520-9570 | \$ 344,737,30 |
| 118 | CONSTRUCTION OF DETENTION FOND CONVERSION (* DETENTION/AMENITY FOND IN THE RESERVE & BRAZOS TOWN CENTER. | Damonbaum Engineering Steve Sheldon 713-527-6464 | Dannoobsum Steve Sheldon (713) 520-9570 | \$ 511,046,80 |
| 119 | TURN LANE AND DRIVEWAY ACCESS IMPROVEMENTS TO SERVE GRANDMISSION COMMERCIAL DEVELOPMENT | Westpark Real Buate, LLC Ajey K. Jain | Blackline Engineering Jeff Martin (832) 431-5959 | S 219,463.00 |
| į20 | Construction of water, sanitary, drainage, paving and detention facilities for timber trails | Bensoná Dovalopmeni Will Benson (281)932-7836 | Kimbley-Hem Sarah Mays (281) 597-9308 | \$ 2,336,395,50 |
| 121 | WATER DISTRIBUTION, WASTEWATER COLLECTION, PAYING AND STORM WATER FACILITIES TO SERVE FAIRWAY LAKES | Alving fairway, LLC Will Bennes 281-932-7836 | Odyssoy Engineering Magan L. Crutcher (281) 306-0240 | \$ 86,410.00 |
| 122 | Exacustion, Faving and Lot Grading to serve Marcelle Lakes, Sec. Two | Academy Development. Steve Townsead (281) 659-4056 | BHRA Engineering Blake McGregor (713) 784-4500 | \$ 1,601,406.49 |
| 123 | Polo Rasch Sections 2 & 3 Grading Work | Century Communities Carles River, 281-383-5149 | LJA Engineering Everett Dre (713) 953-3200 | 5 31,040.00 |
| 124 | Construction of the Water, Sanitary Sewer and Drainage Pacilities To Serve Del Bello Lake Section i | MA Homes of Houston, Brannas Boszer | LJA Engineering Robert Beeth (713) 953-5200 | 5 2,227,696.86 |
| 125 | Construction of the Weter, Sanitary Sewer and Dealnage Facilities To Serve Del Bello Lake Section 3 | MA Hotues of Houston, Brannon Boozer | LJA Engineeting Robert Booth (713) 953-5200 | \$ 1,653,761.00 |
| 126 | Construction of the Paving and Appurtenances To Servo Reservo of Champions Estates Section 2 | CastleRock Communities Dustin Derband 303-599- 4138 | LJA Koglneering Byerett Deso (713) 953-5200 | \$ 739,990,13 |
| 127 | Argenna Drive Street Dedication Water, Sanitary Sower, and Storm Sewer Facilities | Johnson Development Corp. Todd Hamilton toddh@Johnsondov.com | BGB, Inc Brent Fields (201) 558-8700 | \$ 443,429.67 |
| 128 | Water Distribution, Washewater Collection, Storm Water Pacilities and Paving to serve Moridians, Section Eighty One-A | Risa Communities Brian Asreelb (702) 466-2082 | SHRA Engineering Benjamin Setterwhite (713) 784-4500 | \$ 1,440,284.70 |
| 129 | Water Distribution, Wasiewater Collection, Storm Water Facilities and Paying to serve Moridians, Section Bigbly 73 | Rise Communities Brian Aarseth (702) 466-2082 | EHRA Engineering Benjumbs Satterwhite (713) 784-4500 | \$ 626,748.30 |
| 130 | Construction of Paving Improvements for Verands Section 28 | Costello Eligineeriog Guy L. Humphrey 713-783-7788 | Castello, Engineering Ony L. bumphroy (713) 783-7788 | \$ 373,581,90 |
| 131 | Construction of Water, Sewer, Drainage and Paying Improvements for Woodson's Reserve Section 13 | Toll Brothers' Jacob Rice (979) 255-5661 | Costello Engineering William R. Zoilmen (713) 783-7788 | \$ 781,367,84 |
| 132 | Construction of Water, Sewer, Drainage and Paying Improvements for Woodwa's Reserve Section 17 | Toli Brothers' Jacob Rice (979) 255-5661 | Costello Engineering William R. Zoilman (713) 783-7788 | \$ 1,154,586.80 |
| 133 | Construction of Water, Sewer, Drainingo and Paving Improvements for Woodlead's Reserve Scaling 16 | Toll Buthers Jacob Rice (979) 255- 5661; | Costello Bugincoring William R. Zoliman (713) 783-7788 | \$ 1,667,856.80 |
| 134 | Murcello Lakos Phaso 3 Dotoulion & Onifelia to serve Marcello Lakes and Camillo | Austlemy Development, Steve Townsent (281) 659-4056 | EHRA Engitteering Blake McGregor (713) 784-4500 | \$ 1,720,862,60 |
| 135 | Copper Cove Outfall | Copper Cove, LLC Will Betten | Odyssey Engineering Megan L. Crataber (281) 306-0240 | \$ 30,211.96 |
| 136 | Construction of Water, Sewer, Drainings and Optional Paying Improvements For Hagerson Phase 1 | Taylor Murrison Belsty Skiener 281-598-3040 | Costello Engineering Ariel Mejia Jr. (713) 783-7788 | \$ 3,095,034.40 |
| 137 | Water Distribution, Wastewater Collection and Paving To surve Trevise Gardens Section Four | Academy Development, Sieve Toverend (281) 659-4056 | SHRA Rugineering Plake McGregor (713) 784-4500 | \$ 1,706,953.38 |
| 138 | Water Distribution, Wastewater Collection, and Storm Water Fucilities to serve Marcello Lakes, Section Two | Academy Development, Stove Townsead (281) 659-4655 | EHRA Bugineering Bloke McGregor (713) 784-450D | \$ 588,595.50 |
| 139 | Construction of Paying Improvements for Bryan Crossing Section One | Mr. Doug Howard KB Home Lone Star Inc. 11314 Richmand Avenue Houston, Tx 77082 | Coxollo Egninessing Ron Declert, P.E Project Manager 713-783-7783 | \$ 726,342.50 |
| 140 | Countrustion of the Paying and Appartenances to Serve Pola Ranch Section I | Century Communities / Victoria Holsey 832-742- 6122 | LIA Engineering Eyerett Dan (713) 953-5200 | 3 591,087.89 |
| 141 | Construction of the Paving and Appartenences to Serve Polo Resuct Section 2 | Century Communities / Victoria Halsey 812-742- 0121 | LIA Engineering Everett Den (713) 959-5200 | S 514,420.58 |
| 142 | Wiler, Sever and Drainage Ingravements for Circle 7 Road, Wildwood Fark Road and Great Bise buron Lane | Mr. Trey Reichart HWS#9 Holdings, LLC 13131 Dulry Addingd Suito 210 Sogar Land, TX 7747 | Costello Egninearing Beent Palermo, P.E. Project Manager 979-218-6717 | \$ 965,422.20 |
| 143 | Country attors of Water, Newer, Doublege and Priving Improvements for Woodson's Reserve Section 15 | Toll Brothors' Jacob Rico (979) 255- 5661 | Costello Enginocijug William R, Zollman (7)3) 783-7788 | £ 1,738,198,10 |
| 144 | Water Direrbudon, Sankary Sewer, Druinage, Excavation, Paving, and Grading Improvements to serve Lifac Bené Soction 2 | Academy Development. Hector Martinez (281) 671-9011 | 3 ackline Engineering Joselfer Penticld (832) 925-8044 | \$ 701,658,76 |
| 145 | WATER DISTRIBUTION, SANITARY SEWER, PAYING & DRAINAGE IMPROVEMENTS UPLAND SQUARE | Academy Development. Hester Martinez (281) 671-9011 | Blackline Engineering Scott Noverad (832) 431-5959 | \$ 1,397,124.56 |
| | | , | | |



BID DOCUMENT

B25-016 / 20202

Job No.: FBC Job No

Due Date: Bid Due Date

12/10/2024

PROJECT MANUAL

FOR:

Chimney Rock Road From South of American Canal To McHard Road Mobility Project No 20202 Precinct 2

BIDDER IS REQUIRED TO FILL IN INFORMATION BELOW:

Northtex Construction, LLC

(Company Name must be Identical to Company Name on W-9 Form)

TOTAL AMOUNT OF BASE BID \$ 16,393,970.92

TAX IDENTIFICATION NUMBER: 81-5328797

6633

See "Instructions to Bidders" after Divider for bidding procedures.

Bidder <u>must submit with bid</u>, a Certificate of Worker's Compensation Coverage. (See Item 3.02 of the General Conditions)

Please Return Bid in an Envelope Marked "Sealed Bid" with the Correct Job Number and Description Shown on the Package.

| | Item | | | Unit of | Estimated | | | | | |
|----|------------|--|----------|----------------|-----------|-------------------|----|--------------------|--------------------|----------------------|
| | <u>No.</u> | <u>Description</u> | Spec No. | <u>Measure</u> | Quantity | <u>Unit Price</u> | | | <u>Total Price</u> | |
| 1 | Α | SITE PREPARATION AND EARTHWORK | | | | | | | | |
| 2 | 1 | PROJECT SIGN | PLAN | EA | 2.00 | х | \$ | \$3,021.18 | = | \$ \$6,042.36 |
| 3 | 2 | CLEARING AND GRUBBING | 102 | LS | 1.00 | х | \$ | \$82,915.93 | = | \$ \$82,915.93 |
| 4 | 3 | SAWCUT, REMOVE AND DISPOSE OF EXISTING PAVEMENT ALL TYPES WITH OR W/O CURB, DRIVEWAYS, SIDEWALK, RAMPS | 104 | SY | 376.00 | x | \$ | \$156.73 | = | \$ \$58,930.48 |
| 5 | 4 | ROADWAY EXCAVATION INCLUDING 3" TOPSOIL | 110 | CY | 71,964 | x | \$ | \$6.53 | = | \$ \$469,924.92 |
| 6 | 5 | SPECIAL ROADWAY EXCAVATION | 110 | CY | 1,830 | х | \$ | \$10.71 | = | \$ \$19,599.30 |
| 7 | 6 | REMOVE & RELOCATE TRAFFIC SIGNS, MAIL BOXES AND ROADWAY SIGNS | 500 | LS | 1.00 | х | \$ | \$8,603.85 | = | \$ \$8,603,85 |
| 8 | | | - | | | | | Subtotal of Item A | | \$ \$646,016.84 |
| 9 | В | PAVING | | | | | | | | |
| 10 | 7 | 6% LIME STABILIZED SUBGRADE (8" DEPTH) | 220 | SY | 45,270.00 | х | \$ | \$4.34 | = | \$ \$196,471.80 |
| 11 | 8 | HYDRATED LIME (SLURRY) OR COMMERCIAL LIME SLURRY | 221 | TON | 814.00 | х | \$ | \$409.49 | = | \$ \$333,324.86 |
| 12 | 9 | CONCRETE PAVEMENT (8") | 360 | SY | 39,411.00 | x | \$ | \$72.55 | = | \$ \$2,859,268.05 |
| 13 | 10 | DOWELING INTO EXISTING PAVEMENT (1" DIAMETER) | 361 | EA | 32.00 | x | \$ | \$10.57 | = | \$ \$338.24 |
| | 11 | DOWELING INTO EXISTING PAVEMENT (1 1/4" DIAMETER) | 361 | EA | 120.00 | х | \$ | \$13.19 | = | \$ \$1,582,80 |
| 14 | 12 | METAL BEAM GUARD FENCE WITH TERMINAL SECTION WITH CONCRETE | 516 | LF | 6,215.00 | x | \$ | \$30.21 | = | \$ \$187,755.15 |
| 15 | 13 | W- BEAM GUARDRAIL END SECTION WITH OBJECT MARKER | 516 | EA | 22.00 | х | \$ | \$1,993.99 | = | \$ \$43,867.78 |
| 16 | 14 | METAL BEAM GUARDRAIL (THRIE-BEAM) TERMINAL CONNECTION SECTION | 516 | EA | 8.00 | x | \$ | \$3,746.27 | = | \$ \$29,970.16 |
| 17 | 15 | REINFORCED CONCRETE CURB (ALL TYPE ALL HEIGHT) | 530 | LF | 26,362.00 | х | \$ | \$5.79 | = | \$ \$152,635.98 |
| 18 | 16 | REINFORCED CONCRETE SIDEWALKS (4-1/2" THICK) | 530 | SF | 280.00 | х | \$ | \$8.73 | = | \$ \$2,444.40 |
| 19 | 17 | 4" CONCRETE SLOPE PAVING | 531 | SY | 3,120.00 | X | \$ | \$139.75 | = | \$ \$436,020.00 |
| 20 | 18 | ADA RAMP - TYPE 7 | 530 | EA | 6.00 | x | \$ | \$1,833.26 | = | \$ \$10,999.56 |
| 21 | 19 | ADA RAMP - TYPE 21 | 530 | EA | 2.00 | х | \$ | \$2,560.78 | = | \$ \$5,121.56 |
| 22 | | | | | | | | Subtotal of Item B | | \$ \$4,259,800.34 |
| 23 | С | STORM SEWER | | | | | | | | |
| 24 | 20 | TRENCH SAFETY SYSTEM | 429 | LF | 7,171.00 | x | \$ | \$0.87 | = | \$ \$6,238.77 |
| 25 | 21 | REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER GASKET (24") | 460 | LF | 1,570.00 | x | \$ | \$112.49 | = | \$ \$176,609.30 |
| 26 | 22 | REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER GASKET (30") | 460 | LF | 677.00 | x | \$ | \$137.32 | = | \$ \$92,965,64 |
| 27 | 23 | REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER GASKET (36") | 460 | LF | 118.00 | x | \$ | \$211.75 | = | \$ \$24,986.50 |

U

| 28 | 24 | REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER GASKET (48") | 460 | LF | 2,910.00 | x | \$ \$229.71 | = | \$ | \$668,456.10 |
|----|----|--|-----------|----|-----------|------------|------------------------|---|----|----------------|
| 29 | 25 | SET (TYPE II) (24") (RCP) (6:1) (P) | 463 | EA | 2.00 | x | \$ \$5,500.50 | = | \$ | \$11,001.00 |
| 30 | 26 | CONCRETE WINGWALLS WITH STRAIGHT WINGS (FOR 10'X10' RCB)(4:1) | TxDOT 420 | CY | 50.00 | х | \$ \$1,029.95 | = | \$ | \$51,497.50 |
| 31 | 27 | SET (TYPE I) (S=5 FT) (HW=3 FT) (6:1) (P) WITH PIPE RUNNERS | 463 | EA | 16.00 | x | \$ \$21,984.10 | = | \$ | \$351,745.60 |
| 32 | 28 | PRECAST CONCRETE STANDARD MANHOLE | 471 | EA | 16,00 | х | \$ \$7,045.71 | = | \$ | \$112,731.36 |
| 33 | 29 | ACCESS MANHOLE TO 10'X10' RCB | 471 | EA | 2.00 | x | \$ \$4,959.57 | = | \$ | \$9,919.14 |
| 34 | 30 | TYPE C1 INLET | 472 | EA | 8.00 | х | \$ \$7,907.15 | = | \$ | \$63,257.20 |
| 35 | 31 | TYPE C2 INLET | 472 | EA | 18.00 | x | \$ \$6,671.08 | = | \$ | \$120,079.44 |
| 36 | 32 | TYPE C SLOT INLET | 472 | EA | 12.00 | x | \$ \$4,508.77 | = | \$ | \$54,105.24 |
| 37 | 33 | TYPE E INLET | 472 | EA | 2.00 | х | \$ \$4,416.41 | = | \$ | \$8,832.82 |
| 38 | 34 | PRECAST RCB (5' X 3') | 480 | LF | 220.00 | x | \$ \$543.60 | = | \$ | \$119,592.00 |
| 39 | 35 | PRECAST RCB (10' X 10') | 480 | LF | 1,522.00 | х | \$ \$1,273.44 | = | \$ | \$1,938,175.68 |
| 40 | 36 | REINFORCED CONCRETE SLOPE PAVING (RR8 - 5") | 491 | SY | 1,096.00 | x | \$ \$198.83 | = | \$ | \$217,917.68 |
| 41 | 37 | REINFORCED CONCRETE CHANNEL LINING (8") | 491 | SY | 1,312.00 | x | \$ \$230.87 | = | \$ | \$302,901.44 |
| 42 | 38 | 4" CONCRETE SLOPE PAVING | 531 | SY | 3,120.00 | х | \$ \$157.85 | | | \$492,492.00 |
| 43 | 39 | RIPRAP (18") | 493 | SY | 117.00 | х | \$ \$147.52 | = | \$ | \$17,259.84 |
| 44 | 40 | RIPRAP (24") | 493 | SY | 1,121.00 | х | \$ \$187.20 | = | \$ | \$209,851.20 |
| 45 | | | | | | | Subtotal of Item C | | \$ | \$5,050,615.45 |
| 46 | D | MSE RETAINING WALL | | | | | | | | |
| 47 | 41 | EMBANKMENT (FINAL)(DENS CONT)(TY C) | 132 | CY | 5,331.00 | . X | \$ \$50.72 | = | \$ | \$270,388.32 |
| 48 | 42 | EMB(FNL)(DC)(TY E)(CSBE)(RWALL # FND IMPR) | 132 | CY | 3,361.00 | х | \$ \$6.62 | = | \$ | \$22,249.82 |
| 49 | 43 | STRUCT EXCAV | 120 | CY | 3,361.00 | х | \$ \$3.96 | = | \$ | \$13,309.56 |
| 50 | 44 | RETAINING WALL # (MSE) | 423 | SF | 13,070.00 | x | \$ \$88.75 | = | \$ | \$1,159,962.50 |
| 51 | 45 | ALL WEATHER ACCESS ROAD (8" GRAVEL OR CRUSHED CONCRETE) WITH 8" CEMENT STABILIZED SAND BASE | 230 | SY | 2,505.00 | x | \$ \$71.89 | = | \$ | \$180,084.45 |
| 52 | | | | | • | | Subtotal of Item D | | \$ | \$1,645,994.65 |
| 53 | Е | PUMP STATION | | | | | | | • | |
| 54 | 46 | MOTOR CONTROL EQUIPMENT | ELECT - 1 | EA | 15.00 | x | \$ \$17,388.13 | = | \$ | \$260,821.95 |
| 55 | 47 | PANELS | ELECT - 2 | EA | 1.00 | X | \$ \$56,201.45 | = | \$ | \$56,201.45 |
| 56 | 48 | SURGE PROTECTION | ELECT - 3 | EA | 1.00 | x | \$ \$32,741.15 | = | \$ | \$32,741.15 |
| 57 | 49 | SAFTEY SWITCHES | ELECT - 4 | EA | 1.00 | х | \$ \$14,614.03 | = | \$ | \$14,614.03 |
| 58 | 50 | ENCLOSED CIRCUIT BREAKERS | ELECT - 5 | EA | 4.00 | х | \$ \$6,674.70 | = | \$ | \$26,698.80 |
| 59 | 51 | MOTOR CONTOL CENTER, PANELS & ANCILLARIES | ELECT - 6 | EA | 1.00 | x | \$ \$43,561.26 | = | \$ | \$43,561.26 |
| 60 | 52 | DRY DISTRIBUTION TRANSFORMER | ELECT - 7 | EA | 1,00 | x | \$ \$21,176.39 | = | \$ | \$21,176.39 |
| 61 | 53 | CONDUIT & FITTINGS | ELECT - 8 | LF | 600.00 | х | \$ \$14.29 | = | \$ | \$8,574.00 |
| | 54 | PULL & JUNCTION BOXES | ELECT - 9 | EA | 4.00 | Y | \$ \$7,307.01 | = | \$ | \$29,228.04 |

بر

| 3 | 55 | UNDERGROUND DUCT BANKS | ELECT - 10 | LF | 700.00 | x | \$ \$209.02 | = | \$ \$146,314.00 |
|---|----|--|-------------|----|----------|---|--------------------|---|----------------------|
| 1 | 56 | WIRE & CABLE | ELECT - 11 | LF | 7,300.00 | х | \$ \$10,55 | = | \$ \$77,015.00 |
| 5 | 57 | GOUNDING | ELECT - 12 | EA | 3.00 | × | \$ \$3,771.34 | = | \$ \$11,314.02 |
| | 58 | LIGHTING | ELECT - 13 | EA | 1.00 | x | \$ \$21,861.02 | = | \$ \$21,861.02 |
| | 59 | TELEPHONE (AUTO DIALER) | ELECT - 14 | EA | 1.00 | х | \$ \$8,292.80 | = | \$ \$8,292.80 |
| | 60 | WIRING DEVICES | ELECT - 15 | EA | 5,00 | х | \$ \$5,271.62 | = | \$ \$26,358.10 |
| | 61 | PRIMARY INSTRUMENTATION | ELECT - 16 | EA | 1.00 | х | \$ \$42,839.02 | = | \$ \$42,839.02 |
| | 62 | INSTRUMENT. & CONTROL(ASP) | ELECT - 17 | EA | 1.00 | х | \$ \$67,008.51 | = | \$ \$67,008.51 |
| | 63 | BUSSED WEATHERHEAD | ELECT - 18 | EA | 1.00 | x | \$ \$36,796.64 | = | \$ \$36,796.64 |
| | 64 | ULTRASONIC LEVEL CONTROLLER | ELECT - 19 | EA | 1.00 | х | \$ \$48,881.38 | = | \$ \$48,881.38 |
| | 65 | MISCELLANEOUS ELECTRICAL, INSTRUMENTS & CONTROLS | ELECT - 20 | LS | 1.00 | x | \$ \$30,211.86 | = | \$ \$30,211.86 |
| | 66 | EXCAVATION | 120 | CY | 2,742.00 | х | \$ \$9.53 | = | \$ \$26,131.26 |
| | 67 | TEMPORARY SPECIAL SHORING | 442 | SF | 3,864.00 | x | \$ \$6.04 | = | \$ \$23,338.56 |
| | 68 | CLASS C CONCRETE (WALLS) | 450 | CY | 297.90 | х | \$ \$972.67 | = | \$ \$289,758.39 |
| | 69 | CLASS C CONCRETE (SLABS) | 450 | CY | 250.00 | Х | \$ \$922.02 | = | \$ \$230,505.00 |
| | 70 | CLASS C CONCRETE (SLOPE PAVEMENT) | 450 | CY | 9.00 | Х | \$ \$1,087.05 | = | \$ \$9,783.45 |
| | 71 | CLASS C CONCRETE (CONTROL PANEL AND STILLING WELL BASIN PAD) | 4 50 | CY | 12.00 | x | \$ \$872.33 | = | \$ \$10,467.96 |
| | 72 | STILLING WELL | TxDOT 465 | EA | 1,00 | х | \$ \$36,254.24 | = | \$ \$36,254.24 |
| | 73 | FURNISH AND INSTALL FRAME AND GRATE (FOR SUMP PUMP WELL) | TxDOT 471 | EA | 1.00 | x | \$ \$3,021.18 | = | \$ \$3,021.18 |
| | 74 | FURNISH AND INSTALL HAND RAIL | HC 450 | LF | 46.00 | x | \$ \$302.12 | = | \$ \$13,897.52 |
| | 75 | 24" PVC | 430 | LF | 18.00 | x | \$ \$533.67 | = | \$ \$9,606.06 |
| | 76 | PUMP AND ASSEMBLY**** | PLAN | EA | 3.00 | х | \$ \$90,635.60 | = | \$ \$271,906.80 |
| | 77 | MOTOR SOFT STARTS | PLAN | ΕA | 3.00 | X | \$ \$3,021.18 | = | \$9,063.54 |
| | 78 | SUMP PUMP AND ASSEMBLY | PLAN | EA | 1.00 | х | \$ \$7,855.09 | = | \$ \$7,855.09 |
| | 79 | INSTALLATION OF PUMPS, SUMP PUMP, PIPING AND ASSEMBLY | COH - 02532 | LS | 1.00 | x | \$ \$30,211.86 | = | \$ \$30,211.86 |
| | 80 | PIPE AND FITTING ACCESSARY (FOR PUMPS AND SUMP PUMP) | COH - 02532 | LS | 1.00 | x | \$ \$9,548.15 | = | \$ \$9,548.15 |
| | 81 | CUMMINS GENERATOR 275 KW 480/277/3PH/4WAND FUEL TANK | PLAN | EA | 1.00 | x | \$ \$120,847.47 | = | \$120,847.47 |
| | 82 | TEMPORARY CONTROL PANEL | ELECT - 2 | LS | 1.00 | x | \$ \$6,646.62 | = | \$ \$6,646.62 |
| | | | | | | | Subtotal of Item E | | \$ \$2,119,352.57 |
| | F | BRIDGE - American Canal NORTHBOUND | | | | | | | |
| | 83 | CEM STABIL BKFL | 231 | CY | 152.00 | х | \$ \$70.43 | = | \$ \$10,705.36 |
| | 84 | DRILL SHAFT (18 IN) | 416 | LF | 80.00 | x | \$ \$404.12 | = | \$ \$32,329.60 |
| | 85 | DRILL SHAFT (36 IN) | 416 | LF | 830,00 | х | \$ \$381.55 | = | \$ \$316,686.50 |
| | 86 | CL C CONC (ABUT)(HPC) | 420 | CY | 75.20 | x | \$ \$1,130.47 | = | \$ \$85,011.34 |
| | 87 | REINF CONC SLAB (HPC) | 420 | SF | 4,367.00 | x | \$ \$25,44 | = | \$111,096.48 |

| 97 | 88 | BRIDGE SIDEWALK | 422 | SF | 1,893.00 | x | \$ | \$22.79 | = | \$ \$43,141.47 |
|-----|-----|---|----------|-----------------|---------------|---------|----------|------------------|----|----------------------|
| 98 | 89 | APPROACH SLAB | 422 | CY | 97.00 | x | \$ | \$554,61 | = | \$ \$53,797.17 |
| 99 | 90 | PRESTR CONC GIRDER (TX54) | 420 | LF | 612.50 | х | \$ | \$340.67 | == | \$ \$208,660.38 |
| 100 | 91 | STR STEEL (MISC NON - BRIDGE) | 442 6007 | LB | 420,00 | х | \$ | \$18.70 | = | \$ \$7,854.00 |
| 101 | 92 | RAIL (TY C223) (HPC) | 450 6033 | LF | 334.00 | x | \$ | \$110.20 | = | \$ \$36,806.80 |
| 102 | 93 | SEALED EXPANSION JOINT (4 IN) (SEJ - M) | 454 6018 | LF | 81.00 | × | \$ | \$433.03 | = | \$ \$35,075.43 |
| 103 | 94 | PAINTING OF STRUCTURES AND BRIDGE PLAQUE (FURNISH AND INSTALL) | PLAN | LS | 1.00 | х | \$ | \$7,009.16 | = | \$ \$7,009.16 |
| 104 | | | Su | ıbtotal of Item | F: BRIDGE - A | Americ | an Canal | NORTHBOUND | | \$ \$948,173.69 |
| 105 | G | BRIDGE - American Canal SOUTHBOUND | | | | | | | | |
| 106 | 95 | CEM STABIL BKFL | 231 | CY | 152.00 | x | \$ | \$70.43 | = | \$ \$10,705.36 |
| 107 | 96 | DRILL SHAFT (18 IN) | 416 | LF | 80.00 | x | \$ | \$404.12 | = | \$ \$32,329.60 |
| 108 | 97 | DRILL SHAFT (36 IN) | 416 | LF | 830.00 | × | \$ | \$381.55 | = | \$ \$316,686.50 |
| 109 | 98 | CL C CONC (ABUT)(HPC) | 420 | CY | 75.20 | x | \$ | \$1,149.03 | = | \$ \$86,407.06 |
| 110 | 99 | REINF CONC SLAB (HPC) | 420 | SF | 4,367.00 | х | \$ | \$25.44 | = | \$ \$111,096.48 |
| 111 | 100 | BRIDGE SIDEWALK | 422 | SF | 1,893.00 | x | \$ | \$22.79 | = | \$ \$43,141.47 |
| 112 | 101 | APPROACH SLAB | 422 | CY | 97.00 | x | \$ | \$554.61 | = | \$ \$53,797.17 |
| 113 | 102 | PRESTR CONC GIRDER (TX54) | 420 | LF | 612.50 | x | \$ | \$340,67 | = | \$ \$208,660,38 |
| 114 | 103 | STR STEEL (MISC NON - BRIDGE) | 442 6007 | LB | 420.00 | x | \$ | \$18.70 | = | \$ \$7,854.00 |
| 115 | 104 | RAIL (TY C223) (HPC) | 450 6033 | LF | 334.00 | x | \$ | \$110.20 | = | \$ \$36,806.80 |
| 116 | 105 | SEALED EXPANSION JOINT (4 IN) (SEJ - M) | 454 6018 | LF | 81.00 | x | \$ | \$433.03 | = | \$ \$35,075.43 |
| 117 | 106 | PAINTING OF STRUCTURES AND BRIDGE PLAQUE (FURNISH AND INSTALL) | PLAN | LS | 1.00 | х | ,\$ | \$7,009.16 | = | \$ \$7,009.16 |
| 118 | | | Su | btotal of Item | G: BRIDGE - A | America | an Canal | SOUTHBOUND | | \$ \$949,569.40 |
| 119 | | | | | | | Tota | l of Item F TO G | | \$ \$1,897,743.09 |
| 120 | Н | TRAFFIC CONTROL PLAN | | | | | | | | |
| 121 | 107 | TRAFFIC CONTROL - BARRICADES, BARRIERS, BARRELS, CONES, AND SIGNING | 671 | МО | 18.00 | x | \$ | \$805.65 | = | \$ \$14,501.70 |
| 122 | | | | | | | Su | btotal of Item H | | \$ \$14,501.70 |
| 123 | I | SIGNING AND PAVEMENT MARKINGS | | | | | | | | |
| 124 | 108 | ALUMINUM SIGNS (GROUND MOUNTED)- FURNISH & INSTALL | 624 | EA | 26.00 | x | \$ | \$392.75 | = | \$ \$10,211.50 |
| 125 | 109 | REFLECTORIZED PAVEMENT MARKINGS TYPE II 12" YELLOW/SOLID, 6" CURB PER DETAIL "D" - FURNISH & APPLIED | 660 | LF | 1,876.00 | x | \$ | \$1.81 | = | \$ \$3,395.56 |
| 126 | 110 | REFLECTORIZED PAVEMENT MARKINGS TYPE ! (THERMOPLASTIC) 4" WHITE/DASHED - FURNISH & APPLIED (15' OVER 40') | 660 | LF | 5,104.00 | x | \$ | \$1.21 | = | \$ \$6,175.84 |
| 127 | 111 | REFLECTORIZED PAVEMENT MARKINGS TYPE I (THERMOPLASTIC) 8" WHITE/SOLID - FURNISH & APPLIED | 660 | LF | 320,00 | x | \$ | \$2.42 | = | \$ \$774.40 |
| 128 | 112 | REFLECTORIZED PAVEMENT MARKINGS TYPE ! (THERMOPLASTIC) 12" WHITE/SOLID - FURNISH & APPLIED | 660 | LF | 644.00 | x | \$ | \$3.93 | = | \$ \$2,530.92 |

| 129 | 113 | REFLECTORIZED PAVEMENT MARKINGS TYPE I (THERMOPLASTIC) 24" WHITE/SOLID - FURNISH & APPLIED | 660 | LF | 456.00 | x | \$ \$9.67 | = | \$ \$4,409.52 |
|-----|-----|--|-----------|------|--------|---|--------------------|-----|-------------------|
| 130 | 114 | REFLECTORIZED PAVEMENT MARKINGS TYPE I (THERMOPLASTIC) WORD "ONLY" - FURNISH & APPLIED | 660 | EA | 3,00 | x | \$ \$271.91 | = | \$ \$815.73 |
| 131 | 115 | REFLECTORIZED PAVEMENT MARKINGS TYPE I (THERMOPLASTIC) SINGLE ARROW-LEFT/RIGHT - FURNISH & APPLIED | 660 | EA | 3.00 | x | \$ \$265.87 | = | \$ \$797.61 |
| 132 | 116 | REFLECTORIZED PAVEMENT MARKINGS TYPE I (THERMOPLASTIC) DOUBLE ARROW-LEFT/RIGHT & STRAIGHT - FURNISH & APPLIED | 660 | EA | 1.00 | x | \$ \$332.33 | = | \$ \$332.33 |
| 133 | 117 | REFLECTORIZED PAVEMENT MARKERS TYPE II-C-R - FURNISH & INSTALL | 663 | EA . | 418.00 | х | \$ \$7.25 | = | \$ \$3,030.50 |
| 134 | 118 | BRIDGE DELINEATOR - FURNISH AND INSTALL | TxDOT 658 | EA | 20.00 | х | \$ \$38.67 | = | \$ \$773.40 |
| 135 | 119 | REMOVING PAVEMENT STRIPING & MARKINGS (SYMBOLS, TRAFFIC BUTTONS) | 674 | LS | 1.00 | x | \$ \$1,812.71 | = | \$ \$1,812.71 |
| 136 | | | | | | | Subtotal of Item I | | \$ \$35,060.02 |
| 137 | J | TRAFFIC SIGNAL | | | | | | | |
| 138 | 120 | DRILL SHAFT (TRF SIG POLE) (36 IN) | | LF | 16.00 | х | \$ \$298.49 | = | \$ \$4,775.84 |
| 139 | 121 | CONDUIT (PVC) (SCHD 80) (2") | 618 | LF | 145.00 | x | \$ \$17.50 | = | \$ \$2,537.50 |
| 140 | 122 | CONDUIT (PVC) (SCHD 80) (2") (BORE) | 618 | LF | 245.00 | х | \$ \$20.72 | = | \$ \$5,076.40 |
| 141 | 123 | CONDUIT (PVC) (SCHD 80) (3") (BORE) | 618 | LF | 150,00 | x | \$ \$28.20 | = | \$ \$4,230.00 |
| 142 | 124 | CONDUIT (PVC) (SCHD 80) (4") | 618 | LF | 25.00 | х | \$ \$38.67 | = | \$ \$966.75 |
| 143 | 125 | ELEC CONDR (NO. 6) BARE | 620 | LF | 640.00 | х | \$ \$1.70 | = | \$ \$1,088.00 |
| 144 | 126 | REMOVE SM RD SN SUP&AM | | EA | 1.00 | х | \$ \$785.51 | = | \$ \$785.51 |
| 145 | 127 | INSTALL HWY TRAF SIG (UPGRADED) SIGN, PEDESTRIAN PUSH BUTTON (SYMBOL TYPE) (9" X 12") (R10-3ER), ALUMINUM SIGN (TY A) "FM 2234", ALUMINUM SIGN (TY A) "LEFT TURN ON FLASHING YELLOW" | 680 | EA | 1.00 | x | \$ \$7,250.85 | = | \$ \$7,250.85 |
| 146 | 128 | VEH SEC (12 IN) LED (GRN) | 682 | EA | 2 | x | \$ \$362.54 | = | \$ \$725.08 |
| 147 | 129 | VEH SEC (12 IN) LED (GRN ARW) | 682 | EA | 2 | х | \$ \$362.54 | = | \$ \$725.08 |
| 148 | 130 | VEH SEC (12 IN) LED (YEL) | 682 | EA | 2 | х | \$ \$362.54 | = | \$ \$725.08 |
| 149 | 131 | VEH SEC (12 IN) LED (YEL ARW) | 682 | EA | 4 | x | \$ \$362.54 | = | \$ \$1,450.16 |
| 150 | 132 | VEH SEC (12 IN) LED (RED) | 682 | EA | 2 | x | \$ \$362.54 | = | \$ \$725.08 |
| 151 | 133 | VEH SEC (12 IN) LED (RED ARW) | 682 | EA | 2 | x | \$ \$362.54 | = | \$ \$725.08 |
| 152 | 134 | BACK PLATE W/REF BRDR (3 SEC) (VENT) ALUM | 682 | EA | 2 | х | \$ \$241.70 | = | \$ \$483.40 |
| 153 | 135 | BACK PLATE W/REF BRDR (4 SEC) (VENT) ALUM | 682 | EA | 2 | х | \$ \$362.54 | = | \$ \$725.08 |
| 154 | 136 | TRAF SIG CBL (TY A) (12 AWG) (2 CONDR) | 684 | LF | 1,045 | x | \$ \$2.20 | = | \$ \$2,299.00 |
| 155 | 137 | TRAF SIG CBL (TY A) (12 AWG) (4 CONDR) | 684 | LF | 1,045 | х | \$ \$3.01 | 225 | \$ \$3,145.45 |
| 156 | 138 | TRAF SIG CBL (TY A) (12 AWG) (7 CONDR) | 684 | LF | 1,130 | x | \$ \$5.13 | = | \$ \$5,796.90 |
| 157 | 139 | INS TRF SIG PL AM (S) 1 ARM (44') | | EA | 1 | x | \$ \$22,719.32 | = | \$ \$22,719.32 |
| 158 | 140 | PED POLE ASSEMBLY | 687 | EA | 5 | x | \$ \$3,142.04 | = | \$ \$15,710.20 |
| 159 | 141 | REMOVE PED POLE ASSEMBLY | | EA | 3 | х | \$ \$523.67 | = | \$ \$1,571.01 |

| 160 | 142 | PED DETECT PUSH BUTTON (APS) | 688 | EA | 5 | х | \$ | \$1,111.80 | = | \$ | \$5,559.00 | |
|-----|-----|---|------------|------|-----------|------------|-----|--------------------|---|-------------|---------------------|----------|
| 161 | 143 | REPLACE OF SIGNAL HEAD ASSM (RELOCATE) | | EΑ | 2 | x | \$ | \$755.30 | = | \$ | \$1,510.60 | |
| 162 | 144 | RADAR PRESENCE DETECTOR | | EA | 1 | х | \$ | \$15,710.17 | = | \$ | \$15,710.17 | |
| 163 | 145 | POWER (2/C) AND COMMUNICATION (4/C) CABLE | | LF | 210 | х | \$ | \$3.45 | = | \$ | \$724.50 | |
| 164 | 146 | RADAR ADVANCED DETECTION DEVICE | | EΑ | 1 | x | \$ | \$13,293.22 | = | \$ | \$13,293.22 | |
| 165 | 147 | POWER (2/C) AND COMMUNICATION (4/C) CABLE | | LF | 520 | х | \$ | \$3.49 | = | \$ | \$1,814.80 | |
| 166 | | | | | | | | Subtotal of Item J | | \$ | \$122,849.06 | |
| 167 | K | STORM WATER POLLUTION PREVENTION PLAN | | | | | | | | | | |
| 168 | 148 | SODDING FOR EROSION CONTROL (VARIOUS WIDTHS) | 162 | SY | 9,021.00 | х | \$ | \$7.25 | = | \$ | \$65,402.25 | |
| 169 | 149 | HYDRO-MULCH SEEDING | 165 | AC | 11.03 | х | \$ | \$3,021.19 | = | \$ | \$33,323.73 | |
| 170 | 150 | TPDES GENERAL PERMIT NO. TXR 150000 NOTICE OF INTENT (NOI) APPLICATION FEE (CONTRACTOR'S NOI FEE & HARRIS COUNTY'S NOI FEE , EACH SHALL BE SET PRICE OF \$325.00) | 700 | EΑ | 1.00 | x | \$ | \$325.00 | = | \$ | \$325.00 | |
| 171 | 151 | REINFORCED FILTER FABRIC BARRIER (60% OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT COST FOR REMOVAL) | 713 | LF | 15,286.00 | × | \$ | \$1.51 | = | \$ | \$23,081.86 | |
| 172 | 152 | INLET PROTECTION BARRIER (STAGE 1, WITH FIBER ROLLS; 60% OF UNIT COST FOR FURNISH AND INSTALLATION, AND 40% OF UNIT COST FOR REMOVAL) | 719 | EA | 30.00 | x | .\$ | \$78.55 | = | \$ | \$2,356.50 | |
| 173 | 153 | STABILIZED CONSTRUCTION ACCESS (TYPE 1-ROCK; 60% OF UNIT COST FOR FURNISH AND INSTALLATION, AND 40% OF UNIT COST FOR REMOVAL) | 724 | EA | 2.00 | x | \$ | \$4,842.87 | = | \$ | \$9,685.74 | |
| 174 | 154 | CONCRETE TRUCK WASHOUT STRUCTURES (60% OF UNIT COST FOR FURNISH AND INSTALLATION, AND 40% OF UNIT COST FOR REMOVAL) | 730 | . LS | 1.00 | . x | \$. | \$2,757.80 | = | \$ | \$2,757.80 | |
| 175 | 155 | INLET PROTECTION BARRIER (FOR STAGE II INLETS, GRAVEL BAGS; 60% OF UNIT COST FOR FURNISH AND INSTALLATION, AND 40% OF UNIT COST FOR REMOVAL) | 741 | EA | 25.00 | x | \$ | \$90,63 | = | \$ | \$2,265.75 | |
| 176 | 156 | SWPPP INSPECTION AND MAINTENANCE (MIN. BID - \$6,000.) | 751 | МО | 18.00 | х | \$ | \$738.51 | = | | \$13,293 .18 | I |
| 177 | | | | | - | | | Subtotal of Item K | | \$ | \$152,491.81 | |
| 178 | L | ** EXTRA WORK ITEMS | | | | | | | | | | |
| 179 | 157 | CONCRETE PAVEMENT (9") (HIGH STRENGTH) (MIN. BID \$35/SY) | 360 | SY | 100.00 | х | \$ | \$69.47 | = | \$ | \$6,947.00 | |
| 180 | 158 | SEAL SLAB FOR STORM SEWER (6") (MIN. BID \$25/SY) | 430 | SY | 125.00 | х | \$ | \$25.00 | = | \$ | \$3,125.00 | |
| 181 | 159 | CEMENT STABILIZED SAND BASE FOR HIGH STRENGTH CONCRETE (8" DEPTH) (MIN. BID \$6/SY) | 433 | SY | 100.00 | x | \$ | \$6.00 | = | \$ | \$600.00 | |
| 182 | 160 | WELL POINTING (MIN. BID \$15/LF) | 436 | LF | 10,000.00 | x | \$ | \$15.00 | = | \$ | \$150,000.00 | |
| 183 | 161 | ESPLANADES, MEDIANS AND DIRECTIONAL ISLANDS | 535 | SY | 125.00 | x | \$ | \$105.34 | = | \$ | \$13,167.50 | |
| 184 | 162 | COLORING CONCRETE MEDIANS (BLACK) | 536 | SY | 125.00 | х | \$ | \$105.34 | = | \$ | \$13,167.50 | |
| 185 | 400 | MULT!POLYMER PAV MRK (W) (SLD)(6") | TxDOT 6038 | LF | 50.00 | х | \$ | \$20.54 | = | \$ | \$1,027.00 | |
| | 163 | MOETIFOLTMER PAV MAR (AA) (OLD)(O) | 6004 | | 00.00 | | | | | | | l l |

| 187 | 165 | MULTIPOLYMER PAV MRK (W) (SLD)(8") | TxDOT 6038 6007 | LF | 50.00 | х | \$ \$30.21 | = | \$ | \$1,510.50 |
|-----|-----|--|--------------------|----|----------|---|--------------------|---|------|--|
| 188 | 166 | MULTIPOLYMER PAV MRK (W) (SLD)(12") | TxDOT 6038 6008 | LF | 400.00 | x | \$ \$7.25 | = | \$ | \$2,900.00 |
| 189 | 167 | MULTIPOLYMER PAV MRK (W) (SLD)(24") | TxDOT 6038 6010 | LF | 125.00 | х | \$ \$18.13 | = | \$ | \$2,266.25 |
| 190 | 168 | MULTIPOLYMER PAV MRK (BLACK) (BRK)(6") | TxDOT6038 6022 | LF | 50,00 | х | \$ \$27.79 | = | \$ | \$1,389.50 |
| 191 | 169 | CONSTRUCTION SAFETY FENCE | 559 | LF | 200.00 | X | \$ \$18.13 | = | \$ | \$3,626.00 |
| 192 | 170 | OFF-DUTY UNIFORMED PEACE OFFICE - AS DIRECTED BY ENGINEER (MIN. BID \$25/HR) | 672 | HR | 200.00 | x | \$ \$25.00 | = | \$ | \$5,000.00 |
| 193 | 171 | ADJUST EXISTING WATER VALVE TO PROPOSED GRADE | COH 02086 | EΑ | 5.00 | x | \$ \$985.85 | = | \$ | \$4,929.25 |
| 194 | 172 | REMOVE AND RELOCATE EXISTING FIRE HYDRANT ASSEMBLY INCLUDING WATER VALVE AND FIRE HYDRANT BRANCHES (LEADS) | COH 02086 | EΑ | 1.00 | x | \$ \$7,939.67 | = | \$ | \$7,939.67 |
| 195 | 173 | VIDEO RECORDING CONSTRUCTION | 561 | LS | 1.00 | x | \$ \$6,163.22 | = | \$ | \$6,163.22 |
| 196 | 174 | TEMPORARY FENCING (BARBED WIRE) | 556 | LF | 1,000.00 | х | \$ \$14.71 | = | \$ | \$14,710.00 |
| 197 | 175 | BORROW | 130 | CY | 10,000 | х | \$ \$21.00 | = | \$. | \$210,000.00 |
| 198 | | | | | | | Subtotal of item L | | \$ | \$449,495.39 |
| 199 | | | | | | | | | | ************************************** |

***Grand Total of Base Bid (Items A - L)

\$ \$16,393,920.92

Begin

200 201

202

^{****} The following Pump items will be provided by the county:

| ITEM | QTY |
|---|-----|
| HEC-X5288 PL7081/705 110HP 460/3 570M M | 3 |
| O/M Operation & Maintenance Manual | 3 |

^{*} Awarded vendor to submit a sample of specified items for inspection/approval by the Office of County Engineer prior to order placement.

^{**} The extra work items are to be used only on the instructions of the field engineer on the job. No Compensation will be received for any part of these items unless they are actually used on the job under the direction of the field engineer. Any additional items required over and above those listed above will have to be secured on a change-in-contract and are not to be used until same has been approved by the County Auditor and/or Commissioner Court. The amount subtotal for extra work items is to be included in the grand total of this bid.

^{***} This figure should appear on the front cover of the Fort Bend County Bid Document/Project Manual.

NorthTex Construction Group Combined Balance Sheet March 31, 2024

| A | 100 | C. | ŧ. | |
|---|-----|----|----|--|
| | | | | |

| and the state of t | | |
|--|--|-------------|
| Cash and equivalents | \$ | 4,515,769 |
| Contracts receivable trade | | 23,609,765 |
| Retainage receivable | | 5,549,418 |
| Contract assets | | 3,978,798 |
| Prepaid expenses, other current assets | eire Makikannovia kanimaaninni missi M | 154,548 |
| Current Assets | | 37,808,298 |
| Machinery and equipment | | 27,156,489 |
| Vehicles and trucks | | 3,100,774 |
| Less accumulated depreciation | -saccoonichtacionomenicinal Addinività | (9,432,978) |
| | Phillips. | 20,824,285 |
| Right of Use Assets, net | | 924,195 |
| Total Assets | \$ | 59,556,778 |
| Liabilities and Member's Capital | er. | 24.009.708 |
| Accounts payable | \$ - | 21,998,793 |
| Accrued liabilities and retainage payable | | 1,025,713 |
| Current maturities of long-term debt | | 1,809,263 |
| Current maturities of right of use obligation | | 665,540 |
| Contract liabilities | | 4,314,073 |
| Current Liabilities | | 29,813,381 |
| Lease obligations, net of current | | 258,654 |
| Equipment revolver | | 2,776,103 |
| Long-term notes payable, net of current | ************************************** | 1,788,313 |
| Total Liabilities | | 34,636,452 |
| Member's Capital | | 24,920,325 |
| Total Liabilities and Member's Capital | \$ | 59,556,778 |

Unaudited, Internally Generated

Confidential, for Management Use Only

NorthTex Construction LLC and Top Ground Equipment LLC

NorthTex Construction Group Combined Statement of Income and Member's Capital Three Months Ended March 31, 2024

| Contract revenues | \$ | 28,790,574 |
|--------------------------------------|--|------------|
| Cost of goods sold | | 26,766,940 |
| Gross profit | * anniversal convertice management at | 2,023,633 |
| Administrative and overhead expenses | | |
| Labor and burden | | 58,566 |
| Office and occupancy | | 60,000 |
| Insurance and taxes | | 20,173 |
| Other | | 30,049 |
| | : entenzione-zinizianenniper/codezi-do. | 168,788 |
| Income from operations | America and an american and an | 1,854,845 |
| Interest (expense) | | (75,827) |
| Interest & other income | | 7,252 |
| Other income | apoliulijanojoj laukanou-juuria erabililililililililililililililililililil | (68,575) |
| Net income | | 1,786,271 |
| Member's capital, December 31, 2023 | | 23,134,054 |
| Member distributions | 10000000 | |
| Member's capital, March 31, 2024 | \$ | 24,920,325 |

NorthTex Construction Group Combined Schedule of Contracts in Progress March 31, 2024

| Job No. | Job Description | Total Contract Amount | Total Estimated Costs | Total Estimated Profit | Total Job Costs To Date | Revenues Earned To Date | Billed To Date | Estimated Earnings To Date | Contract Assets | Contract Liabilities |
|------------|--------------------------------|-----------------------------|-----------------------------|------------------------------|-------------------------------|-------------------------------|----------------------|----------------------------------|--------------------|-------------------------|
| 335 | Black Oak Sec 2 | 5,780,602 | . 5,438,035 | 342,567 | 4,469,508 | 4,751,062 | 5,774,460 | 281,555 | | 1,023,397 |
| 349 | Beechnut St Phase 1 | 5,871,993 | 5,447,042 | 424,951 | 5,396,413 | 5,817,414 | 5,615,774 | 421,001 | 201,640 | |
| 356 | Ridgeland Hills Sec 1 | 5,145,232 | 4,683,094 | 462,139 | 4,047,622 | 4,447,051 | 4,358,749 | 399,429 | 88,302 | |
| 361 | Old Montgomeny Rd | 5,231,967 | 4,863,586 | 358,382 | 4,548,913 | 4,893,461 | 5,131,820 | 344,548 | | 238,358 |
| 366 | Ayalon BTR | 10,512,196 | 9,476,563 | 1,035,633 | 7,590,617 | 8,420,147 | 7,967,817 | 829,530 | 452,331 | |
| 374 | BCMUD#87 Det & Grading Ph.1 | 7,400,216 | 7,060,204 | 340,012 | 7,010,884 | 7,348,521 | 7,318,366 | 337,637 | 30,155 | |
| 378 | Amenity Lakes - Orchid Estates | 5,073,607 | 4,705,703 | 367,904 | 3,524,502 | 3,800,056 | 3,937,942 | 275,554 | | 137,886 |
| 403 | Brown Chatham Fhase 1 | 5,156,987 | 5,012,059 | 144,928 | 2,159,313 | 2,221,751 | 2,003,500 | 62,439 | 218,251 | |
| 404 | Laurel Farms Sec.1 WSD & Pav | 5,715,504 | 5,488,402 | 227,102 | 4,067,857 | 4,236,179 | 4,085,613 | 168,322 | 150,566 | |
| 411 | BCMUD #87 Phase 2 | 6,208,309 | 6,000,918 | 207,392 | 1,162,637 | 1,192,473 | 1,390,936 | 39,835 | | 198,463 |
| 412 | Cedar Pointe Ph1 Det & Offsite | 5,542,474 | 5,265,526 | 276,948 | 646,315 | 680,309 | 764,915 | 33,994 | | 84,606 |
| 422 | Friendswood Stormwater Det. | 5,546,179 | 4,980,502 | 565,676 | 72,810 | 81,080 | 74,764 | 8,270 | 6,316 | • |
| | Small Jobs <\$5MM | 48,219,253 | 45,836,615 | 2,382,638 | 33,951,977 | 35,732,225 | 36,101,089 | 1,780,248 | 2,262,499 | 2,631,363 |
| | **. | 121,404,520 | 114,258,248 | 7,146,272 | 78,639,369 | 83,621,731 | 84,525,744 | 4,982,362 | 3,410,060 | 4,314.078 |

NorthTex Construction Group

Combined Schedule of Gross Profit on Contracts Three Months Ended March 31, 2024

| | | Contract Totals | | | | | | Prior to January 1, 2024 | | | | | | Three Months Ended March 31, 2024 | | | | |
|------------|---|-----------------|-----------------|-------------------|------------------------------------|------------------|-------------------|--------------------------|---|------------------|------|------------|------|-----------------------------------|--|-------------------|---|------------------|
| Job No. | Job Description | | ntract enues | Contract Costs | | Gross Profils | | Contract tevenues | | ontract Costs | | oss Mis | | ontract venues | | Contract Costs | | Gross Profits |
| , | Completed Contracts | | | | | | | | | · | | | | | | | | |
| 333 | Ridgeland Hill Sec 1 | \$ | 6,364,247 | \$ 5,372 | 263 \$ | 991,983 | ¢¢ | 5,167,105 | Ě | 4,272,013 \$ | 3 | 895,092 | \$ | 1,197,142 | \$ | 1,100,250 | \$ | 96,892 |
| 35- | Sagecrest Sec 1 WSD & Pav | | 5,784,483 | 5,046 | 820 | 737,663 | | 5,225,091 | | 4,883,705 | | 342,385 | | 558,392 | | 163,115 | | 395,278 |
| 38 | Flagstone Stc. 2 | | 3,486,935 | 3,365 | 398: | 121,537 | | 3,384,822 | | 3,288,218 | | 96,604 | | 102,113 | | 77,179 | | 24,933 |
| | Small jobs <s3mm &="" td="" warranty<=""><td></td><td>8,222,629</td><td>7,983</td><td>235</td><td>239,395</td><td>ورماده ومادتان وا</td><td>6,511,441</td><td>ina 4 Norman</td><td>6,196,415</td><td></td><td>315,025</td><td>www</td><td>1,711,189</td><td><u></u></td><td>1,786,819</td><td></td><td>(75,631)</td></s3mm> | | 8,222,629 | 7,983 | 235 | 239,395 | ورماده ومادتان وا | 6,511,441 | ina 4 Norman | 6,196,415 | | 315,025 | www | 1,711,189 | <u></u> | 1,786,819 | | (75,631) |
| | Total completed contracts | 28 | 3,858,294 | 21,767, | 716 | 2,090,578 | ميشببش. | 20,289,458 | | 18,540,352 | | ,649,106 | | 3,568,835 | ************************************** | 3,127,383 | ******* | 441,472 |
| | Contracts in Progress | | | | | | | | | | | | | | | | | |
| 335 | Black Oak Sec 2 | 4 | 1,751,062 | 4,469, | 508 | 281,555 | | 4,746,952 | | 4,467,306 | | 279,646 | | 4,110 | | 2,201 | | 1,909 |
| 349 | Beechnut St Phase 1 | į | 5,817,414 | 6,396, | 413 | 421,001 | | 5,386,155 | | 4,904,660 | | 481,495 | | 431,259 | | 491,753 | | (60,494) |
| 358 | Ridgeland Hills Sec 1 | ¥ | 4,447,051 | 4,047 | 822 | 399,429 | | 3,197,508 | | 3,003,714 | | 193,794 | | 1,249,543 | | 1,043,908 | | 205,635 |
| 361 | Old Montgomery Rd | ź | 4,893,461 | 4,548, | | 344,548 | | 4,693,504 | | 4,355,364 | | 338,140 | | 199,958 | | 193,549 | | 6,408 |
| 365 | Avaion BTR | | 8,420,147 | 7,590 | | 829,530 | | 6,356,371 | | 5,892,586 | | 463,785 | | 2,063,777 | | 1,698,032 | | 355,745 |
| 374 | BCMUD#87 Det & Grading Ph.1 | | 7,348,521 | 7,010 | | 337,637 | | 7,054,111 | | 6,741,866 | | 312,245 | | 294,410 | | 269,018 | | 25,392 |
| 378 | Amenity Lakes - Orchid Estates | | 3,800,056 | 3,524 | | 275,554 | | 2,214,861 | | 2,102,465 | | 112,396 | | 1,585,195 | | 1,422,037 | | 163,158 |
| 403 | Brown Charham Phase 1 | | 2,221,751 | 2,159 | | 62,439 | | 337,922 | | 324,836 | | 13,084 | | 1,883,830 | | 1,834,475 | | 49,355 |
| 404 | Laurel Farms Sec. 1 WSD & Pav | | 4,236,179 | 4,067 | | 168,322 | | 2,443,297 | | 2,344,878 | | 98,419 | | 1,792,883 | | 1,722,980 | | 69,903 |
| 411 | BCMUD #87 Phase 2 | | 1,192,473 | 1,152 | | 39,835 | | 189,799 | | 179,361 | | 10,437 | | 1,002,674 | | 973,276 | | 29,398 |
| 412 | Cedar Pointe Phi Det & Offsite | | 880,309 | 648 | | 33,994 | | | | ~ | | | | 680,309 | | 646,315 | | 33,994 |
| 422 | Friendswood Stormwater Det. | | 81,080 | | 810 | 8.270 | | 199 | | | | • | | 81;080 | | 72,810 | | 8,270 |
| ,,,,,,,,, | Small Jobs <\$5MM | 3 | 5,732,225 | 33,951 | 977 | 1,780,248 | | 21,779,514 | | 20,682,755 | | ,096,759 | | 13,952,712 | | 13,269,222 | | 683,490 |
| | Jobs in progress | ···· | 3,621,731 | 78,639 | i de de deixeniamiente annue annue | 4,982,362 | , in the second | 58,399,992 | *************************************** | 54,999,792 | | ,400,200 | | 25,221,739 | | 23,639,577 | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | 1,582,162 |
| | Grand Total | \$ 10 | 7,480,024 | \$ 100,407 | 064 \$ | 7,072,940 | S | 78,689,450 | \$ | 73,640,144 8 | \$ 5 | ,049,306 | \$: | 28,790,574 | \$ | 26,766,940 | \$ | 2,623,634 |

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

1 of 1

| | | | | | 1011 |
|----|--|--|----------|-------------------|--------------|
| | Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties. | | CEI | OFFICE USE | |
| 1 | Name of business entity filing form, and the city, state and count of business. | ry of the business entity's place | Certi | ficate Number: | |
| | Northtex Construction, LLC | | 2024 | 1-1247403 | |
| | Houston , TX United States | | Date | Filed: | |
| 2 | Name of governmental entity or state agency that is a party to the | | 0/2024 | | |
| _ | being filed. | c contract for which the form is | | | |
| | Fort Bend County. | | | Acknowledged: | |
| | | | 01/14 | 4/2025 | |
| 3 | Provide the identification number used by the governmental enti- description of the services, goods, or other property to be provided | | the co | ontract, and prov | ride a |
| | B25-016. Chimney Rock Road Construction from American Canal to M Project No. 20202. | cHard Road Segment Two for For | t Bend | d County Mobilit | y Bond |
| _ | 1 10,000 110. 20202. | | | Nature of | interest |
| 4 | Name of Interested Party | City, State, Country (place of busin | ess) | (check ap | plicable) |
| | | | | Controlling | Intermediary |
| No | orthtex Construction, LLC | Houston, TX United States | | | Х |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| 5 | Check only if there is NO Interested Party. | | | | |
| 6 | UNSWORN DECLARATION | | | | |
| | My name is | , and my date of | birth is | i | |
| | My address is | ,, | , | | , |
| | (street) | (city) (s | tate) | (zip code) | (country) |
| | I declare under penalty of perjury that the foregoing is true and correc | t. | | | |
| | Executed inCounty | v, State of, on the | | day of | , 20 |
| | | | | (month) | (year) |
| | _ | | | | |
| | | Signature of authorized agent of con (Declarant) | tracting | g business entity | |